- ML.S.W. 2011-2012 (Paper Series-B)

Which one of the following constitutional a

ow > mendm

k- ﬁlw number of ministers, including the Prime !:Ir:::n:zt“ that
ster, in the

d fifteen percent of the total

council of Ministers shall not

number of members of the Hou
se of the |
(a) 90" 9™ (©) oo™ <

f follo
n h
“hﬂ (1} I]IQ wing is the au‘.hcr Of a CO”L‘C“U[‘I of poems

T o :. ;:I)Hed *Golden threshold™?
_ s%g;i‘?\lsﬁj:h (b) A_qnic Besant
A (d) Vijaylakshmi Pandit

ll::ll w Cl answ mng
Ltsl I '“l'l List {I al!d Sclﬂtt llic corre SWET us:
ﬂ!.

_I! lhcmc;)de given below the lists:
(Fan;ous Temple)
2 A- Vl_dyashanknra temple
B- Rajasthan Temple
C- Kandariya Mahadeo temple
) D- Bhimesvara Temple
A B C
fay 2 < 3
(b) 2 3 4
()1 4 3
(d) 1 3 4

List 11
(State)

2. Karnataka

4. Orissa

4. Match Li ith Lis
: tch List I with List Il and select the correct answer using

Ede given below the lists
(Famous persons)
2 A. Amrita Sher-Gil 1.D
B, Bhimsen Joshi 2. Painter
C. Rukmini Devi Arundale 3. P;)et E
D. Suryakan: Tripathi Nirala .

List 11
(Well'’known as)

4. Singer

1. Andhra Pradesh

3. Madhya Pradesh

‘ 129
& A new scheme for integrated developtment of 1000 villagss
" with above 50 pergent cchedule: ) caste population Wwas
announced in the 2009.10 General Budget. It pame 13
(a) Rajiv Gandhi Adarsh Gram Panyojana
(b) Pradhan Mantri Gram Samayojana
(¢) Bapu Adarsh Gram Yojana
| ‘l)fl’radhun Mantri Adarsh Gram Yojana
{6. Which of the following is/ arc the recomm
| Sachar Committee Report?
1. Set up an equal opportun
concerns of the deprived minority groups
7 Create @ national data bank on vanous socio-religions

endations ol e

iy commission 1o addrens

categories
3. Setupa National Wakf Development Corporation with a
revolving corpus fund of Rs. 500 crores.
4. Designate Arzal Muslims as SCs and most backward
castes and evolve affirmatiye-action Measures
(a) None (b) 2 and 3 w&?l..ﬁ.‘ &4 (Qonly L &4
. Which of the following is not one of the four new lges
reserves 10 be set up in the country as per the announcement
of the National Tiger Conservation Authority in May 2008
(a) Sunabeda Tiger Reserve, Orissa
(b) Pilibhit Tiger Reserve, Uttar Pradesh
(¢) Ratapain Tiger Reserve. Madhya Pradesh
by Rangra Tiger Reserve, Himanchal Pradesh
g. Which of the following committee  has recommended
measure for banning and ¢ ing ragging in educational
establishment in India ?
e Raghavan Commitiee (b) Jusraj Commitiee
()N arshmahan Committee (d) Sali Sorabji C ommitice
9. In an examination. 1100 were boys and 900 were girls. 30%
of the boys and 40% of the girls passed.the examination. 1he
percentage of candidates that failed is

@45 ()45 (Prs4.5 @2
10. The price of cooking oil has increased by 253%. The

percentage of reduction, that family should effect in the use

AMU UPBATES
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1_" L A =L
;{c!‘.lfgi’ *ﬂ

! bOy'?
(a) Rs. 45 :
14. The ave (b) Rs. 40
d ra : (c) Rs. '
however. 512 ‘:’:;'ghl: of students in )a "-'13535{]0!«3 (d) Rs. 25
will be iﬂcrease:igl: of the teacher be iric(uciefi s 50 kg. If,
v 500" grams; Find the w the average
cz‘%I.;ll‘_,of the

(Ieacher.
a) 75 kg
15. A grocer o
b kg (c) 70 kg
ght T0 kg of apples for Rs EI out E)C:) ?I;: s
. which one

kg was fo
und rotten. If he wi
should sell it @ ... p-erf:: wishes to make a profit of 10%, h
i v, NE

(a) Rs. 9.00
16, Choose ;h (b)Rs.9.90 ()R
given in th: word which is similar ins. 10.10 (d) 10.20
(&) Immoral capital letter DISPASSIONX}—?;mng to the word
: (b .
]?'fsﬁ?II:'ICI}rOUS ""?ans) Sensual  (gMmpartial ~ (d) Scientfic
- onc :
18. Choosc‘;}:??:;rd [g]b) Firm (€) Reverential(#Wors
the word given i at is most nearly opposite i Worried
fuip) Cold {bJIFm fjap”a’ letter NEBUL Olus";n'iﬂw““i"g g
19, Which i undamental N B Gharipiive,
() i:::::f:nbamo"}'m of REPRIME;]}\JJI)JOWM (8 Clear
_J_-“nguage %Ir){)mmw (¢) Encourage (d) Prai
- depcndt‘nﬂ)r of;ﬂc}-and P?rsmalily may bcsﬂ ;
. ;-EQUivocal (b) Pe lmf_lcr in thought but they are Con_sldered
. rvasive (¢)Asaporable (d) Autof ok
. omous
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W s B-\;Q -
- of cooking oil so as 130 T o S R 131
% ;ss e change it exPendi:mqo ’ Ciriticism (hat tears down without suggesting areas of
Phe a (b) 20 e n cooking [ ; rovement is not - and should pe-avoided if possible
is 44 f:s of A and B are in the mt(.':) 25 (d) 30 Constructive (b) Mandatory (€) Pertinent (d) Sagacious
(@) 5:6 ars. What will be the ratio E}-f}:‘s_and sum of their 92.The problem of housing shortagé, --=sw=!*’ with the
12. A man can (b) 7:8 © s.eu- ages after 8 ye a':gis opulation explosion has also been «oveeeree In this policy-
the stream al'Ow with the steam at 8 k; (d) 14:13 . (a) Projected .- Discused  (b) Dispensed -+ acknowledged
(a) 2km/hr t 2 km per hour. The speed fPer hour and agaj () Threatened - Manifested \@*Compounded % Adslressud
13, Two men undemi-(/h)g km/hr — (c) 4 k{:-mume uitent is; ___-e'l']f- 23. Handicrafts constitute  an jmportant +---e of the
alone can do it in (5e to do -a piece of work fi (d) 5 km/h® | decentralized sector of India’s economy and .. Employment 10
a boy they finish i days the other in 8 days or Rs. 200. One over six million artisans
ish it is 3 days. How muchy ?5 With the help of | (@) Factor aims (b) Extension --- Plants
: the share of the egment ... provides (d) period .- projects
passages carefully and answer the

74, Read the following

. question that fo
on of child labour is qu

llows:
ite complex. Children

poor families Who cannot sUrive
ich accrues 1© the family
abour Any attempt 10 abolish it through
resource would, under the circumstances. not be
mative 1s 10 .ban child labout in
rate the conditions

|. The only alte
nd to regulate and amelio
eas. Many developing countries, including

The phenomen

without the
on account of child |

legal
practica
hazardous arcas &
ol work in other ar
India, have accepted this approach.
What can be inferred about the poli
about child labour in India.
1. Give cconomic penefits to the families of chold labour.
7. Reducing/ controlling child labour in anhealthy areas of

cy being followed

king conditions for

work
3. Maintaining and improving Wor
children
(a)Only 1 & 7 (b)only2 (c)12&3 (d) Only 1 &3
B.CDEand F are standing in a TOW- C and
EB is standing

25, Six persons A. _
o each other alongside
the

are standing close t ‘
beside A only. A is fourth from F. Who are standing on

(b)B&D @yBséF

-

(d) None

extreme

(L‘.}A&F



:I :':Ih\.

s2 AMU UP

* daughter-in-law of my mother-in-law. How was the man
- related to the women?

| ~{a) Husband (bySon (c)Brother (d) Uncle
~ 27. Which think has proposed the hierarchy of the Sciences ?
(a) Herbert Spencer (b) Karl Marx
(c) N.J. Smelser (d)4uguste Comte
28. Who has written the ‘Book Division’ of labour in society 7
-(a) Max Weber (b) Talcott Parsons ‘
(c) Raymond Aron (d)Emile Durkheim .

29. Sororal polygyny is a type of marriage in which
(a) The wives are not related as sisters
(b) The wives are not cousins
(¢) The wives are invariably younger sisters of the deceased
woman {d)The wives are invariably the sisters
30. How many embers are nominated by the President in Rajya

Sabha ?
(a) 10 (bH2- (c) 14 (d)-
31. Which oil field lies in Punjab ?
(a) Olpad (b) Kalori (c) Sibsagar “(d) Janawri
32. Aravalli mountains range lies in
@rWest (b) East (c) North (d) South

33. Which state was covered under the first green revolution ?
(a) Orissa (b) Haryana ey Bihar (d) West Bengal
34. Who is the author of Ain-e-Akbari
(2) Akbar (b¥Abufazal (c) Sagi Khan (d) Mulla Daud
35. The early vedic period in Indian Hostory refers to
(a) 3000 - 3500 BC (b) 2000 - 2500 BC
: {c)L+500 - 1000 BC (d) 1000 - 500 BC
36. Mohenjodaro & Harappa excavation revealed that perior to
Aryan a highly developed civilization existed in India almost
. years ago. [t is approximately
~ (2) 2000 years (b) 3000 years (¢) 5000 years (d) 7000 years
Mark the incorrect pair
(a) Cricket, Pitch

R (b) Boxing, Rin
~ (€) Lawn Tennis, Court i

Ny Golf, Rink
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Pointing to a man, a woman sgid. His mother is. the only |38 Why
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oky is 'lu‘ i'l'-lf- 4 w;dh blue coloured gas
use LIS . blue . - 10
(Gn))%ew:mse iti ﬁ'ﬂc&:e\r\:;h e particles in wnwmm 1

t A 00l A
5000/-

investe :

3,000/- and % 10)- what did A £¢¢ !

(a) 400
40. A man b
mishandling
6/- per dozen-
(a)Rs.32 - ik
box contain _
e "?hc ratio of red ba‘u'l; )'.5”5 @ - 6
X e
s the value of the expresiT; Yg:;;.i
e Whg \EX-Dw-l)‘f(ﬁ\)tv-%);?
y=2h !
b) 12 (@8
zero  (
43 (F!‘?e diagram iS teptesented by
‘ ircles _
o issf:t t:f‘ft:;‘eg,rman'v:\. neither 2 circle
hich pair i misv{x) )
|, unequa B
({a)){gf};z{ied unsatisfied) (d) (frequen’
c :

: ‘staste ... pub'ﬂC‘lw £ .
45.1 'na;zra dlsi(b) ik ©) Against

' th
46. Pawan’s Story is devoid ... tr(x;f
‘ (a) From (b) To
47, My relations ... S
- (a) To b

buys €88 e " He
b “:::: %lgsepthc selling price
"o s el 410 yellow
bd ba‘;l& 6 green balls an

a (d) 110

Gfx=tand T

44.

& Against
_____ n‘ﬁﬂe
49. Your statement
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*H'!: (b) Of (c) About (d) On
ou must listen the question first.

- @At W Te (c) For (d) Over
. Shyam has no control ............. his temper.

(b) In (c) At (d) After
\ 52. Pure water can be obtained from sea water by the process of
" (a) Filtration istillation
| (c) Evaporation (d) Fractional distillation
| 53. Common salt is obtained from sea water by the process of
i (a) Sublimation (b)Evaporation
’ (c) Crystallization (d) Filtration
54. Gasline is obtained from crude oil by the process of
(a) Evaporation (b)}Fractional distillation
(c) Distillation (d) Filtation

55. Washing soda is
(a) Sodium chloride (byHydrated sodium carbonate
(c) Sodium bicarbonate  (d) Calcium carbonate

'~ 56. Common salt is

(n.ysﬁéium chloride (b) Sodium bicarbonate
(¢) Magnesium carbonate (d) Calcium chloride
57. Hard water does not Juther well with soap because
‘a)d’r/ contains carbonates of calcium and magnesium
(b) It is highly coloured
(c) It contains suspended impurities
(d) It contains sodium chloride
| "58 Water, on passing over rocks, becomes hard because it

«dissolves
: ¥ayClacium carbonate  (b) Sodium chloride
q (c) Sodium carbonate  (d) Sodium phosphate

L 59. The process of changing of one element into another is called
(a) Radioactive decay ~ (p)Fransmutaton of the elements
R {c} Covalent bond formation (d) Hybridization

‘saturated solution at a particular temperature

Is caolcurless (b) Is highly coloured

4 Does not dissolve any more of the soild solute

d) Contains suspended soild particles
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rosper. prese

ists | is vis
54, Many tourists 10 Indi

a).Scencry- ge

'((C) Lakes. rarel

55, Only ‘.“,‘.1._;::;0

(a) Brave. . '

he book. “Possilive Y‘htloso;:
i (b) Herbert Spence

d) Max Weber

ded “The Doctrine ©

66. Who has wri
{ class and class

ho has propout

) Herbert Spencet
(d) Max Weber
a

following 1S

mile Durkhieim

ased on differents!

cation? sb
siratification: of social ranks and group

L At 1$
ower, privileecs § posiuons

i > notion

(c: The

inlierac\inns and ¥



.I r ‘di’&?‘?l;l distribution of pofviﬁ ..
[ 7. B acds . ower, privileges, prestige, resources (@) (i) & @) @), (i) & @)
- ' € 0. following i o LA i) & (iv (d) @), ()& (iv)
AR enai e following is not an (c) (i) & (V) 23 S
P ooy | 75 ot e vk Y08 T R
71. Which of ( Brahmi matched 45-¢-
- the following i n I - : i ; .
3 e Toll g isnot o i {) Igbalnama-i-Jahangirt - Jahangit 59-a,
@ Niriae e sy e g M) A bt G
. uals of o ' en two Ll 5 b za,
(b Marriage i pposite sexes L (i) Alamgimama - Aurangze :
(©) Pr ::’r‘c‘:ﬁfoif 105 an institution }ﬂ.&- (iv) Nuspha-i-Dilkusha - Bhimsen Burhanpur ®
, brin ] ! o & (i ii
(d) 'I‘E;:operation §up chi “?’en‘ mutual love and economic B i[illl)ﬂ ((tC?) 0(:]8;'-’-(?!?) 6
¢ . A 3
] Custcf:lt;p;e fulfil their mutual obligation o : ' D “ 76. Match the following ) ‘:31
72. Which of the fr-l;ujesﬁchpted b B ne the basis of || A. Pitt’s India Act, 1784 1. que‘rt Clive S,
(@) Th ollowing is not true ab . o B. Charter Act, 1833 2. William Bentinck b
B A e concept of time is associat:d o social change ¢ {HL. C. Regulating Act. 1935 3. Weldeseley ta
s a process change conti WiRH ehauge = D. Government of India, Act 1935 4 Warren Hastings '
SI?aw and some times mpic;1 uusly goes on, sometimes it is s ‘ 5. Willington
@ Thc':S-‘f may never be abrupt (a) A-1,B-2,C-1,D-4 (s A-4, B-2, C-4.D-3 s
73. Which oncept of transition is also : ; "'“""*} (c) A-5, B-4, C-3,D-1 (d) A-3,B-5,C-4,D-1 3
the Igd b fb”.o wing statements :IS:OCClaled with change oo 77. Cripps Mission Failed mainly because x
us valley civilization? orrect with regard to ﬁ; mhe congress demand for effective transfer of power 1o °
P A India was not met _ ) Y
rogramme for partitioming India Y

J.!he peo 5
ple of this civilizati
o cotton ilization were the earliest to make sue

3“2‘. ;hé;:_ ;:Iid not crema-e their dead
i 0 e: system was followed in city planni
S \;as the chief building material s
B ol (b)2and 3 (c) 3 and 4
;‘ VS ?f the: ‘f:(_JIIow:ng statements Mﬂﬂd :
. A Huddm Khiigi ? are true with regard to
e rest 2 i .
podes n:ctt)u'red t!u. agrarian system to maintain hi
R i sta !1:55 his political power Shetac
4 iii) e orbafe his nobles from raking'wine
en
Yo pensions and endowments wre i
. _3 , appropriated to the
He declared that he w
. ‘ould be the ki i
B s abe N;:u!;::ln nﬁsof the Hindus in
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(b1t offered aclear p
(c) The congress was
(d) Thee was nothing said
for India

78. What factors influe
Indians ?
1. The second wo
and politically
{L. The Indian armed forces could not longer ber
for their loyalty to the British crown

{11 Intense revolutionary activity had affected the law and
order system

[V. Large scale labour
(a)land 11 (D) L&V © L

not longer willing 10 trust the British
about a constitution making body

nced the British to transfer pOWer 1o the

rld war had weakened Britain c;nnomic:\l".y

¢lied upon

unrest and hostile public mood

g 111 i, &V



Crops
A. Coffee

B. Cotton
C. Tapioca
D. Tobacco
E. Chillies

(a) A-1,B-2, C-3.
(bYA-5, B-2, C-1,
{c) A-4, B-5, C-3, D-2,
(d) A-3, B-4, C-5, D-1,

82. Match the following:
Atomic Power Station

A. Kakrapara
B. Narora

C. Kalpakkam
~D. Tarapur

E. Kota

D-
D-

4,
3,

R VU N R

79. Match the fi i -
ollo - j
BA. gngie chn\:rmg leaders and the journals they founded
- G. Suibramanya A
C. Motilal 1\1‘.-.:hrr:t}al 2
D. M.K. Gandhi
(fa) A-1,B-2, C-3,D-3
c) A-1, B-4, C-5,D-3 (A
80. Match the follom:ng e L
A. Gin forest
CB. Kazir_anga Sanctuary
s . Dachigarm Sanctuary
( .JGAhana Sanctuary
a) A-1, B-2, C-3,D-4 '
; i A- o
‘ (c) A-4, B-3, C-2, D-1 o
81. Match the following

1. Young India

2. Hindu

3. New India

4. Bombay Chronicle

(b) A-3, B-4, C-2, D-1

1. Siberian Cranes
2. Lions

3. Indian Stag

4, Rhinoceros

(d) A-3, B-2, C-1, D-4

Chief Producer
Kerala

Gujrat

Aandhra Pradesh
Tamil Nadu
Karnataka

States
Rajasthan
Gujrat

Tamil Nadu
Maharashtra
Uttar Pradesh

(a} A-1 -2 C_3 D 4 E
! il -'5 ai
(94\{3-5. fIDABe abecnlLEl]

(d) A-1, B-4, C-2, D-3, E-5

83, Which of the following is/ are worng ?

1. Bh i
adravati Steel Plant - Not located near coal deposits
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§5. Therc ar¢ three mi

5. First modern steel plan

3. Bokaro and Bhilai Stee

4. Durgapur Sreel Plant
(@)1 &2 (23 &

g4, An anti- cyclone
se low pressure system

g clockwi
clear an
slower movin

1. is an inten
2. has winds blowin

3.8 accompanied by
4. is more extensive.

a despression
(a)1,2 & 4(b) 23&4

Price Index. These ar¢
1. Primary articles

139

1 in India - Burnpur
| Plants - German Collaboration

. British Help

4 (c)1.2&3

WT&s @D
ajor groups of commodities in the wholesale

se in the southem hemisphere :
d settled weather conditions
g and more persistent than

Jey?&'}

(d1 &2

2. Fuel, power. light and lubricaats

3. Manufactured products

4. Food articles & In
@T2&3

86. As per the National Rural Employ
75 per cent of the cost of

| The Centre bears

dustrial raw matenials

()23 &4 (e) !
ment Gurantee Act.

2. The State Gov

(a) | only only

unskilled manual workers

ernment has to provi

a memhgr of ecvery household

specified under the sc¢

heme made under the
(c)Both 1 &2 (d) Neither 1 nor 2

3&4 (d1&3

wages of

de 100 days of work 1o

in a financial year 3%
legislation

87. Hard currency is

defined as currency

ational transactions

(a) Which can harly be used for intern

(b) Which is used in times of war

(c) Which loses s

value very fast

persistently relative to the supply

%8, The Elevent

{Wards fast an more i
(b) Towards infrastructura

(c) Towards Rapi

d educational a

(d) None of the above
-devaluation of currency’ 18

49, The outcome of

Taded in foreign exchange market for whi

h Five year Plan been named as
nclusive growth
| and agricultural growih

nd economical growth

ch demand 18




| (@ Increas 4
:g :xpon and t.'oreign reserve deficiency
5 Incmreased : xport and improvement in balance of pa
iy mport and improvement in balance of s
B o ase export and import i L
i Inflac?r the following statement o
- Anfact morality rates takes int
; ;quz? e oo ey into account the death of infants
. nt mortality rate is the number of i
infant i
\f/?u“é;u;? year per 100 five births during thafiilah: e
e 1 ot ;he above statement is/ are correct ?
e gm‘:’m( )2only (c)Both1&2 (iHeither 1 nor2
0 rate of population is determined b '
(byﬁ‘rps;xmduction rate g
e birth rate and the death ra
t
(g) The pressure of population )
A Eug The bujth rate in a country
. Al SﬁgA is the name of India’s first
0 quz:;r l;.eczlcir (b) Helicopter
93. Match the it:;ltser:?tlkh li {dll s g
e list I wilth List II and
correct answer from the i t'hen e
: F[_ist : i ”codes given below the lists:
B.A;'Eqrf:n;y 1. Oscillation in unit time
. Amplitude 2. A device consisti i
ting of a w i
on the end of a string : SRUXE
3. C_hem:ca! elements in order of the
o atomic number
. Periodic table 4. Maximum departure from an equibrium

C. Pendulum

value
Codes: A
B C

(a) 2 : 3 f

(b) 1 + 3 2
. 1 4 2 3
ﬁ) 1 4 3 1 3

#. Nuclear reactors used to produce electricity are based on

luclear Fusion (b) Nuclear Fission
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National & International organization

-{c)Cold Fusion
(d) Super conductivity
05. A body weighs less at the equator th
1. earth rotates about its axis
7. the ice cap at the poles increase graviunional pull
1. equatorial diameter is greater than polar diameter
4. of some unknown factors
(a)1 &2 (by1,2&3 ©1&3 @4
96. Which of the following ccmpounds arc responsible for *acid

rain”? .
(i) Nitrogen dioxide (Wicon dioxide
(iv) Carbon monoxide

(iii) Sulphur dioxide

Qelect the correct answer from the codes given below:
(a) 1 &2 \W?: (c)2& 4 @)3&4
97. Match List 1 with List I and select the correct answer by

using the codes given below the lists:
List 11 2

List L
(other or affirmation)

1Funcﬁonariesl :

A. President of India 1. Secrecy of {nformation <

B. Judges of the Supreme Court 2. Faithful discharge of -
duties

3. Faith and Allegiance 10
the constitution of India

4. Upholding the
constitution and the law

C. Members of Parliament

D. Ministers for the Union

Code A B C D
(a) 3 4 1 ()
@/ 4 3 2 1
(c) 3 4 2 1
(d) 4 3 1 2
aching the President can be moved after

98. A resolution for impe
at least fourteen days notice signed by
(a) Not less {han 50 members of the House

; (b) Not less one- third of the total number ©
- House

]
\ Wess than on

f members of the

e-fourth of the total number of the Hosue
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(d) At least 100 members of Lok Sabha and 50 members of

Rajya Sabha v
= 99. Which of the following fundamental right
" Indian citizens but not t0 aliens ?
= 1. Equaltiy before law

= 2. Freedom of expression and speech
3. Right of minorities to CONSETVE their language

4. protection of life and liberty -
(a)1,2&4 (b)2&4 )1 &4 P78 3
100,Indian is a member 0 f which of the following T '

1. Asian Development Bank
2. Asia-pacific economic cooperation 3 .Colombo Plan
. Organisation for economic cooperation and development
(OECD), Select the correct answer using the code given

- —
e

s ‘are available 10

and culture

below: | -

~ Code - . |
@I &2 (b)2&4- (€)1,2&3 d)y123 &4

Answers: M.S.W. 2011-2012 Paper Series-B

1-b, 2-c, 3-a, 4-b, 5-d, 6-¢, 7-d, 8-a, 9-c, 10-b, 11-¢c, 12-b, 13-d,

14.b. 15-b. 16-c, 17-d, 18-d, 19-b, 20-c, 21-a, 22-d, 23-¢, 24-d,

25-c, 26-b, 27-d, 28-d, 29-d, 30-b, 31-d, 32-a, 33-c, 34, 35-cC,
36-c, 37-d, 38-c, 39-c, 40-b, 41-b, 42-d, 43-c, 44-b, 450, 40-c.
47-c. 48-d, 49-a, 50-b, S1-a, 52-b, 53-b, 54-b, 55-b, 56-a, 57-a

58-a, 59-b, 60-c, 61-a, 62-b, 63-b, 64-d, 65-d, 66, 67-c. 68
69-d. 70-d, 71-b, 72-c, 73-d, 74-b, 75-c. 76-b, 77-a, 78-d. 79-d.
80-b. 81.b, 82.c. 831, 84-c. 85-a. 86-b, 87-d, 88-a. 89-b, 90-d.
91-b, 92-a, 93-c, 94-c, 95-c, 96-b, 97-b, 98-c, 99-d, 100-a ‘ ‘

r:‘-.'\‘:""-, 18 1ETR 214141 1 !
et T T e

b! L L 131001y
RARGUHID RS
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e 114 l 1 One proadband services have been .
= i s Tiance lodia Mobt
- M.S.W. 2010 - 2011 ll gﬂfn&nmuc)"‘_'““;ﬁdg} with ot 11 (theis -;::
tll.:. h':lmmmtﬁ:smapensdimn . Ktateh tist 1 (imwmk:‘:trcﬂ:smu answer s § the €083 e
.(b) total receipts minus interest payments on external debt ," patural w““‘;l ;‘:; ol
c ue receipts minus expenditure - E | given below List 1l ]
~ (d) revenue receipts minus defense expenditure § Lt 1. Goosebermics
2. Value added tax is | A Vitamin A . 2.Ragi
a) arfad volerem tax on domestic final consumption collected . B. Thiamine 3, Cereals
at all stages between production and the point of final sale C.lron 4. Jaggery
& (P)nl: ad volerem tax on final consumption collected at the D. Calcium 5_Carrot
manufacturing level , . " C D
(c) 1ax on final consumption collected at the consumption stage A B o A
(d) a special tax levied by states on products from other states (a) 3 3__ 1 2
. 3. Match the following columns : Nl 3 5 4
A.Depression 1.Co-existence of inflation and stagnation (<) E 5 4 1 12
" B. Recession 2.Recovery from depression (@ > fecl drowsy aghter 3 heavy M
(i C.Reflation 3.Reduction in production over a short  period 9. Why do: elo ical clock is upset
0 D. Stagflation 4. Insufficient demand leading to idlemen (4} e 00 gmusclcs are fatigued in to induce sle€p
R and machinery over a long time (b) The hypothalamus produces melaton e e W supply
5. Reduction in level of economy due to (©) Thea.‘zwmems less OXYygen “grr omach and intestin.2
fullmg pricen 2. D-§ %::;and autrition to the "::-:“l';: 11 (Types of discnscﬂ‘_a.
(:) A-1, g-i. g'g- [[))-f ((g; 2‘;‘ g‘i- C-2’ D.] 10 b;!.alch List 1 {D‘.Sﬂm:: :;ng the codes given below the st
PR B B =ty LA=y ol A= . SW .
4. The Kisan Credit Card Scheme, introduced in 1988-89, is an seled.‘lhel correct an %;j- :l:;'wt\- -
_ innovative mechanism for facilitating List hilia Y s disease
. (a) Long term credit to the farmers A He..e:\ pss l 2. Gct:;.,:,m\ disorder
i by Short term credit to the farmers B. Dla':: - % ?zngnl infection
) (c) Credit payment for fertilizers Co RIS A,
- (d) Payment for minor irrigation charges D. Ringw B C D
5. A closed economy is one which A 3 4 1
b Y {a)Poes not trade with other country . (a) % 3 \ 4
- (b) Does not possess any means of international transport (b 2 S \ 4 —_
(€) Does not share a coastal line (© 3 4 4 ) 1  irus (HIV) is 2 living €0t
. (d)Is not a member of the UNO ! »t), 3humaﬂ -mmuno deficiency ¥! jon
6. Bottle neck inflation means - 11. The 1\ respiratio
N o gt S ' it can isturb host ¢¢
(@) No rise in prices despite increase in aggregate demand - pecause 11 & uman serum () d‘s‘mfmm one cell 1o anothe?
-~ 7 Rise in prices without increase in aggregate demand (a) exmti ::m) reprnduc‘i‘m gy
Decline in prices due to increase in aggregate démand Lc)mﬂ’erg
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22. Where will World Cup Football 2014 be held ?
(a) Australia (b) South Africa (¢) Germany ’(d')/Bra.zil
23, A person travels 12 kms due north, then 15 kms due east, after
that 15 kms due west and then 18 kms due south. How far is he
from the starting point ? .
xm  (b) 12 km

(c)33 km (d) 60 km
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117 i

ST - in 6 hours, carpentet 3
| i1 e A can K 8 0 o carpente S
Which of the following does not come as a product of ﬂﬂuﬁs and carpenter G myscm_“s will be made in 21 day
el : o an
3 (:»h é‘.’.‘i,',mfﬁi'fé'i? (b) Nitrogen oxide hours Per d’{t‘};‘ A (C);;o | had sold it for Rs. 18
- (c) Carbon monoxide \@Hydmgen peroxide () 6! book at 2 fit of 12%. red, Find the cost price
13. Anthrax is one of the mostpotent biological weapons in the | 5.1 sold 2 18% would have W;SE“AQ 0. @ Rs. 200 LOM
world. It is spread by single bacterium called more, 1,her:3 (b)Rs.3 d {heir sum is mp. The
a) Bacillus thuricide (b) Bacillus anthratum (a) Rs. 60 umber is 21 an )
?c) Thiobacillus acillus anthracis _The HCF of N:;) " ) 145 (&) 126 or 145 -
14. National Insitute of Nutrition 1§ located in of the nul'nbel' b) 126 0F ﬁ(c) 8 orb\e carefully and answWe 6c, &
(a) Bhopal (b) Indore (c) Kamnal (# Hyderabad (a) 189 oF 28): Study the given 12 0d
15. What is the chronological sequence of the following events in pirection ( 21-45) ow: ents of ABCH 4b
Indian science scene ? the questio " yarious depart™ o3,
A. Launching of Rohini-I Satellite 0 o ‘_:
B. Pokhran Nuclear Test Depal -,
C. Start of Indian Space Research Organisation \ 1
D. First unit of Kalpakkam nuclear powers station going | m_
critical \
()) ABCD (b)BCDA  (c}CBAD  (d) DACB i
16. Nuclear reactors used to produce electricity are based on« _ ;
> uclear fusion (b) Nuclear fission (e)€old fission ~vees reachh
. superccaductivity national and international organization lov - that the
17. Which of the ‘following_ country is not a permanent member-of 57, 1n whic_h year di¢ o the total number of empP o}
the UN S Council ? ately) tWi¢
\;;( ecu?g Fa:ounc1 —— (@& Chi (approx;:“d in the year 19971 002 (d) 2003
i _#fermany rance c) Great Britain ina factory ha oY g loyees
*. W hich country is geographically in Asia but part of NATO ? () 2000 2 : d%d the number 0{19;;“; 2004
(3} Turkey (b)Greece ~ (c)lran (d) Egypt 28. 1n which depaﬂm“—_‘; (he same during the yea‘:h ') None
19. Centre for DNA fingerprinting is located at ‘(d.)"l—’lf [approximatelﬂ teﬂ\:{ﬂ Corporate (©) R;s:at;a s 20% X s
(a) Bangalore (b) New Delhi (c) Pune yderabad () Production ¢ month. She of the |
20. Which of the following cricketers is nicknamed “The Pied 29 ilhaw income 1S RS- ‘2%20 ;;00 and she spends 310"{;‘ |
Piper of Punjab™? " monthly income ab&‘;‘iv mv:mh does she save azmsigngd
( JNW‘aij'Sdl:l?h (fg ﬁee!:f"ger i‘l’:m & remaining infs)n};{lﬁﬁ i (ﬁ)tht age cf it
¢) Navjot Siddhu ohinder Amarna 70000 nts is 9 years: - er
: 21. Michael Schumacher is associated with 2 (;;e average 2g¢ (c)lf_ 32;‘(’;‘3“;5 10 years. The 288 of the
5 (a) Football ) Golf  (c)€ar-racing (d) Billiards 2 aacher is included 1t DE€ i
teacher 15 7

(c) 35
U
_ is borrowed 8L COMPOL - an
. @{5' s ';5 car, 4% for the second .3_:?5 will be
for the first Y 'l tobe pald after 3 }‘ y
year. The amoun LS

q =
O T {;L‘IT!’(Lm

DEF T
hEc o orsed f3

40
at the rate of 3.%

(in years) 1S
4 5% for the third

(a) 27 (03! nd interest



Sy 118
28119 (b)Rs. 29118 ' 119
NDOUR means (¢) Rs. 28129(d) Rs. 23 - .: " e following ———
(@)B@penness (c) Freedo . Find out the wrong number
@ Fear (b)Claw ™ (d) Intimacy 61, 420, 200,96, 40, 16.6.
(c) Joke (a) 420 (b) 200 ()
ing question. there are

arp
gwee 44, In the follow

Iy “. c’hm‘h mﬁﬂlﬂ. 15 most ﬂ.liy PO
t ost n op S1t

(b) Both1 and 11 follows
. This question is followed
numbered 1 and 11 consider

50 lengthy and . that j Y (d) seeming] |
- that : 4
By it was difficult for ys |

His presentati

tation w
to find out the real &S
(a) Verbose — conter;t.

ide which of the given

word gij .
given below i . - 1
in capital letters I meaning o yp, wo_conclusions.
5 i 3 ically follow from the given statement. L
%35. RE (b) Concise & o logica ; .
() gR-E,SSION means (c) Partial (d) Insist Statement: ) 0 R :
36. The ;::'-?’ (b) Relapse M’R egen All papers are pmcﬂs
erat : .
quickly b’:_ihzfdlj:.rope came to India e fo,(-d]" Retreat 22:;3::; :rc eraser
(a) basically (b) i'lm i riches, followed | | Some erasers are papers 11 Some pencils are rot papers
: undamentally  (c) primaril . (a) Only| follows \gb§ Only 11 follows
(d) Neither 1 nor 11 follows

by a statement @
the statement
which of the assutpt

two stat

nd two assumptions
and the following
ions is implicit

was urgent work to be

be

"’ch ha'rn‘[o"y — secrets

3 g’)eabsurq (b) absolve
conflict of man with ph

L. Do ]1'
portion as man learns the

Cu i . a}.le t
%, 0 Co-0 .
(a) cohesion — myste rli}: :’"e with her.

40. If ALTERS is written as Z0

5 (c) laborious — (b) tedious — ski
38. Why didous coverage  (d)sii . '“5 SL:!II
You ... Yourself fro Hple = meaning

m d
done ? uty yesterday, when there
(c) absent (@) abstai
n

ysical nature is turned into a
-+++e.. Of nature and lherlél.n.)‘(

(b) unity - puzzles
éd‘}, collation - riddles
IVW, how would you write the

word AT i
REL* I'ED in the same code ?

(a) VIOGZvw
() VOIZGVYW

Assembly

. LHIIDI‘I of
dl Ihe Vi 1gures
g €n fg
EIEC[Ed bod}, J\"Ifmber OrJ

(b) IVOZGWV
ﬁtﬁ) IVOZGVW
est represents the relat
. ¢ relationshi
arliament, Member of Leeissl];fi:er

assumptions o decide
the statement.
Mark answer as:
(a) If only assumption 1 is implicit
(b) 1f either 1 or 11 is implicit
(c) If only assumption 11 is implicit

d) 1f neither 1 nor 11 is implicit
All the employees are notified that i€

organization will  provide transport
facilities at half the cost from the nearby
Railway station 10 the office except those
who have been provided with ravelling

allowance
1. Most of the employees will travel by the

office transport. )
{1 Those who are provided with travelling

allowance will not reach such notice

Assumptions:

»OD, 6 69

42, Com

s pl'cie the fO”ow‘
?;}4568, 2,9, 480, 20150
(2)860  (b) 2880

46. In this questio
(b), (c) and ( )
which most

O
d)OQ

() 3240 (d) 1140

Civilised peopi€
superstitions beliefs and

AMU UPDATES
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n. a sentence is
d). Select from
Jogically comple

cople are not

followed by four aliernatives (a)
ratives the one

among hose alte
ed in the

ments the idea contain
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are still widely cherished (b) are universally followed
widely recommended (d) that may still evoke com
47. Who formulated “The Law of Three Stages™?
~ (a) Emile Durkheim (by&ugust Comte
- (<) Max Weber \g))ﬁerbert Spencer
48. Who has written the book, “The Study of Sociology™?

: (a) Weber (b) Emile Durheim
5 (c)Herbert Spencer (d) August Comte

pliance

of Capitalism”?

arl Marx * (b) Herbert Spencer
ax Weber + (d) August Comte
ie “We Feeling” is commonly expressed in
() Primary groups (b) Secondary groups
(¢) Structural groups " (d) Professional groups

51. Norms are
(a) Prescriptive {h) Prohibitive
(9 f’roscriptive ; Wéﬂh I'rescriptive & Proscriptive
2. Which of the following statement is not true about caste
svstem in India ? '

(a) Hereditary status (b) Endocamous
(c) Based on Varna System (dj’ﬁorizéntal division of society
53. Which of the following is not the feature of a family?
(a) Social environment which influences the indificual’s early life
(b) Limited size ‘
(c) Central position in social structure

 {(DAbsence of sense of responsibility among the members
- 4. Which of the following is not true about religion ?
; (a) It is an institution (b) It prescribes some rituals
(c) Some beliefs related to supematural power’
o ultural integraion of whole world

- 55. Polyandry means
b (a) Many husband/ wife (b) Many wives
(¢) Group Marriage ,(;:lmany husband
\'Yho ‘Was the first Muslim ruler to formulate the theory of

Kinship similar to the theory of divine right of the king?
(a) Aibak (b) Hrutmish\g‘a/Balban (d) Alauddin

anmath Commission was constituted to suggest reforms in
) .S__rot':lg market  (b) Criminal justice

udicial delay  {d)yone of these

.
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| 58.

0 has written the book “The Protestant Ethic and the Spirj,

59.

60.

61.

The Rajya Sabha can be

‘ i i of
(:)) T:jr\e-":‘:f;:esidcm, who is the ex-officio Chairman
(

Rajya Sabha
(c) The Pre

¢ the Union
2 ommendations of
sident on the " fie of the above

Council of Ministers characterized by:

: : -
Indian Socu‘sl System 1
(a) Continuity and cban_gc
(b) Rigidity and institution
(c) Disruption and c;\aipg: i 9%

utio e
" F_’rolcst a“‘:‘ r;\feo following is the cor_rcct tras}: :n ::1 A
Whlc\}}:n:a(:‘ (Bridal financial security in ls'la(r!m g PO
?:;‘gﬁd;!’rice (b) Groom Price (c) Dowry @ybo
Miatch the following

al independence

;ame of the state
Name of the caste 1': dipeta |
5 Ka“}ma P Andhra Pradesi
b 5 Maharashtra
% .l:;:;;rs 4. Gujarat
, Code
Select the " s & =
(a) 4 2 L 3.1
(b) 3 2 |
(c) 4 1 3
| : : s ic Jursiprudence
= o follow Shafai School of Islamic

i h ;

62. Indians, W in the region of
: trated in the reg

are mainly concen (b)xtalabar

o i d) Ganga-Y amuna Doab
waValley (d)Ganga-Yamunawbed. o o
63 (16) 3&2}1‘:\?{0&1 following state the shrine of Khwaja Bangs
n i -
- Daraz is located
ﬂﬂ\\;zs 5:: (b) Andhra Pradesh
> I{lsrﬁataka (d) Uttar Pradesh
3 ::a“:h ::;lf?::i\t’:ng Name of the state
. Sikkim
dagas . |
1;‘ ij\guini I onss?madu
~ Lepchas - 1! T_ami o
% th:nds I\Y Nagalan



- Se
A B C
(a) {1 (e o | I[I)
O] m I v o
(c) v I I
65. g‘?izi Utbi, ll:e brcnthewr f Abm .
tbi, r of Abul Fazal was a fa
; ; mou
4 ;n) ‘ﬁ:u:;cmfn (b)Pamre.r () Poet (d) Religiausss h
of the following state the famous Farazi ;&om
ove

@ Punjab (b) Sindh (c) Baluchis!an\g!.} Bengal

67. The Paralle] of 233: N iscalled
2

(a) Equator
: (b) Tropi
2 \(,% jl"r;pn; of Capricom {d) Arcﬁlccg{rg:ncer
- Which of the i i i
Subiaclle. ¢ following river is not'the tributary of
> :
ollowing Indi i i
_ metamorphosed rocks, dating back ;:nf s s
{ears are found? SR
a) North- i
(c)J < :;::fa ie:::; ir:flon gg; Himalayan region
1 Central re Peninsul i
0. (\;;hcl;:h river is known as The Sorrow oj‘rl;?lt?::fn
andak (b) Ganga (¢f'Kosi (d) Son

;]. Wheﬂ
Was new series Qf llldt‘x “u“]bEIS O! “hOICSa!c p“ces

' intronra'uced?
] (a) 2™ May 2002
b ;
(c) 3" June 2003 ((d)J ;s": il;;‘!’gggﬂ

72 National
compulaso ,]-;l:::-,lp E?:;Lc:ﬁx?;r: Guan_mlee Act, 2005, provides
very willi
’ (z) o g i ymrer} willing rural household.for
(b) LS50 days in a financial year N ﬂﬂﬂﬂ
; 100 da)'s_ in a financial vear
(d) 80 days in a financial y-eér

: .'30 Govemment Of i i
India’s fla i 2 M1
) | gShlp scheme NRHM (_005--01..)

(a) .National Renewal Health Mission
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(b
kﬁew Rural Health Mission

74. The motto

was launched ? ment, 75. Which article of the Constitution guarantees free 3nd computey
—— L, 3

education 10 all children in the age group 6-14 years 7
(a) Article 20A (b) Article 20B\(c)Article 21 A (d) Anticle 21B
76. Match the following
1. Anti Child Labour Day A. April 30
2. Anti Tobacco Day B. May 31
3. Anti Addiction Day C.June 26
4. Poverty Alleviation Day D. October 17
1 2 3 4
w/ A B C D
(b) B c D A
(©) c D A B
(d) D A B

123
ational Rural Health Mission

(d) Revised National Health Mission
of 11 Five year Plan (2007-2012) i

(a) Féster and Inclusive Growth

(b) Faster and Inclusive Development
(c) Growth with Development

(d) Rapid and Inclusive Development

77. The theme of Oscar nominated film ‘The Final Inch’ was on
(2) HIV/ AIDS ) Polio (c) Cancer (d) Liabetes
78. First IVE (in vitro fertilization) baby was born in
é}YEngland (b) Australia (cYU.S.A. (dYNorway
79."Which one of the following countries firs accorded lezal
status to Euthanasia ?
(a) Scotland -(t_prs'witzer\and (c) Sweden () South Afnca
80. Which one of the following diseases is ireated by Direct
Observed Treatment (DOT) therapy?
(a) Cholera (b) Diabetes  (c) Leprosy (§AUberculosis Th -MeE
81. Education can be defined as a process of
(a) Social mobility (b) Social stratification
ultural transmission mployment generation
82. Which of the following is not true about the Indus Valley

Civilisation ?

1. The drainage
design

2.1t has trad

system they created was based on Sumerian

e links by sea with other regions




A 124
Existence of street lighting has been revealed
ed in g

the sites excavated show the existence of huge
Publje

baths
wﬁ-}fa}l&! -(b)2&3 & 4
- 'm‘ll’dd:gc l!;e position of women during the \5&)_2 &4
(M.) - S ollowing statement is not true ? edic age,
Vox fl_]oycd an honourable position duri
e e during the carly
'omen took part in religi i i :
y;’hedic due religious deliberations during the ear|
c e practice of “Sati” ¢ : .
” ericd i" was unknown during the later Vedic
) The birth of girls was looked down upon during the |
e later

Vedic period
84. Whi
ich of the statements are correct with regard to Mah
t ahavira's

T"r 8.

views ?
(a) Mahavira di i i
) Mahavira did not believe in the transmigration of th
e soul

(b) Mahavira laid
1 much e is*
for attaining “Nirvana mphasis-on the concept of devotion

(C) !i’ﬁhai ra Iclcﬁted God as ﬂle creator O! ﬂﬂ universe
.tuals hﬂd !hl i
notiung lO do with the Purlﬁu'iill’l ol'(;ne s soul
u

d
83. Match the followi i
olaced ollowing events in the life of Buddha and the
A. Birth place
B, st sl L Kushinag
: ! tenment at 2 “a
C. Delivered First sermon at 3. g?}r;:lh
. gaya
4. Lumbini

D. Attained Nirvana at
~{ayA-4, B-3, C-2, D-1
(c) A-1, B-2, C-3, D-4

(b) A-3,B-4.C-2. D-1
(d) A-3.B-1,C-2. D4

24 Match the following
3. Akbar-namah 1. Ishwar Da
. Muntakhab-ul-lubab 2. InayatrKh:n
3. ' Khaifi Khan

C. Shahjahan-namah
D. Fatuhat-i-Alamgiri
(8yA-4, B-
(9 A-4,g e (b) A-1, B-2, C-3,D-4
87. Arrange thj’focl:;;:v?-z M (C:J A-3. B4, C-1, D-2
ng Mugn 5
31. ?ahadurlShahI R Efﬁifiﬁi"sﬂhgwany
. Farrukhsivar 4. Muhammad Skah

4, Abul Fazal
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7.3.4.5€)5.4.3.3.} 325,41
ser-i-Hind was ©

5.

@

shah A'I.tﬂl“
Lf_ 4,52 (1.
%

S

“hich of the fol!

| The title of Kai

Victoria

11 Censorship was
{11 The Factory Act®

IV Quetia was occupied by the British
a m @l& v

imposed upon Vernacular Press
as passed

by
(& M&W

wet by uting

&}MI &IV (&

§9. Match Jist 1 with list 11 and select {he correet ans

the codes given below the Lists

List1

(E.\'ents) (Rcwlm _ .
A. Morely-Minto Reforms  V: Country-wide agitation

B. Simon Commission 2. Withdrawal of a movement

j-Chaura incident 3. Communal electorates

4. Communal

C. The Ahaun
D. The Dandi March

5, Wegal manufatu
D

A

Lt

(a) 2
(b) 3
(© 5
3
| 90. The chronological order ©
| India is
ave, Khilji, Tughlag  (b) Tughlaq. Stave,
i, Tughlaq, Slave (d) Slave, Tughlaq, Khiljt
the Ajanta Paintings were done during th period of
) havardhana () Guptas (€) Mauryas (d) Kushanas
92, Spring tides occur when _
a) A€ moon, the sun an ¢ in the same line
- b moon, the sun an angles,
earth at the apex
(c) the moon is nearest 1o the earth
(d) the moon is farthest from the earth _
93. Which of the following o/ are matched correctly !
Seismic focus

1. Earthquake's origin ©
2. Epicentre

C
3 5
4 2
2 4
2
~led 0

e — =T

2
{ the three dynasties that
Khup

(c) Khilj

91. Most of
(a) Hars

d the earth ar
with the

d the earth are &t right

above seismic focus
Sjmilar 10 sound waves

3.5 Waves
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&m) of earthquake
” T2,3and 4
ndj.gmslmry 1. Kashmir
D, Manas Sanctuary 3l s
. Peri -Ka
Periyar Sanctuary s Rij‘:s:;?::
- Kerala

((') A-1, B-2, C-3, D-5

c) A-

3 n)jﬂz}:;-; C-3,D-2 (d) A-3, B-2, C-1, D-4

iy (b‘)”\if !hat bagged the ISO 9002 awa.rd

e ishakhapatnam (c) Haldia (d;!ﬁ}tlisco i
5 el s e g ac::m prohibits children "

A-3, B-1, C-2, D-5

- Lhe right against exploitati,

bl.;.siness ge fro9m employment in family
ow 14
) beT Years of age from being employed in hazardoy
5

occu; slions

(c) below 14
Years from i o

(d) from doing all the ﬂbo\:zrl\mg on family farms

97. Which of
H 1 of the followin 3
listed in the CURSlitutioﬁ ;ﬂ- among the fundamental dntiss a5

LTe preserved th -
. e herit. i
I e et e s
i strive fi
international famzr excellen
. To mﬂdcrnan’
I servi
@LII&I i ice when called upo
98. Which of th(btJ'oiIf\:‘I MI“&“ I(’din I[J?Ic}?:f v
matched ? ing articles and subjects is wrongly
=
l'(;; 22:; -[K St E.}ecnloﬂ Commission
W-}? Smf' Finance Commission :
3 ualification required for voting in P '
ections g anchayat

. (d)243-ZB Constitut; ”
t . s ;
E 99. Match the fO”owfﬂgunon of Diswrice Planning Committee

ListI  Writes
. A.H&beas CO’PUS

ce i Scientific research i win

;  ListII Provisions
1.Directs put]ﬁc servant 10 perform
some public duty refused to have been

performed by him
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2. Directs on individent (Privn gt

B.Mandamus % "
executive) to produce & detames before
the coun
C Prohibition 3. Issued by High Court forbidden
an inferior court from continuing
proceedings ina particular case
D .Certiorari 4. Enquires into the legality of the

claim which a party assets 10 a public
office
E. Quo Wamanto S.dssuedtoa lower court qua
its decision in a particular case
(a) A-5, B-1. C-3,D-2,E-4 b A-2,B-1,C3 D-5, E-4
(c) A-4, B-2,C-3,D-1, E-5 (d)A-3,B 4G D-2,E-1
100.Match list 1 with list 11 and select thec -+ answer using the
codes given below the lists
List1
A. Artice 54 1.
B. Anricle 75 2

Listll

Election of the Presidert of India
Appointment of the Prime Mirister and

Council of Ministers

Appointment of the Chief Minister and
Council of Ministers of a State
Appointment of the C4ief Minicter d
Council of Ministers of a Sute

5. Composition of Legistativ® Asszmblv

C. Article 155 3.

D. Atticle 164 4.

A B Cc D
Jar 1 2 3 4
®1 2 4. 3
(c) 2 1 3 3
() 2 1 4 3

Answers M.S.W. (2010-2011) X
1-¢c,2-a, 3-C, 4-b, 5-a, 6-b, 7-a, 8-b, 9-d, 10-b, 11-¢, 124, 13-d, 13-

d, 15-c, 16-c, 17-3, 18-a, 19-d, 20-a, 21-¢, 22-d, 23-a, 24, 25-0.
26-b, 27-b, 28-¢c, 29, 30-d,31-a, 32-b, 13-4, 34-a, 35, 36-<. 31-
a, 38-d, 39-¢, 40-d, 41-c, 42-b, 43¢, 44-a, 45-d, 46-4, 47-b. 8¥c,
49-c, 50-a, 51-d, 57-d, 53-d, 54-d, 55.d, 56-¢, 574, 58-d. £9-a, -
d, 61-c, 62-b, 63, 64-a, 65-c, 66-d, 67-b, 68-a, 69-d, 10-¢ 7\-’2.
72-¢c, 73-b, 74-3, 15-c, 76-a, 71-, 78-a, 79-b, 80-4, 81-¢ 8L, F3-
c, 84-d, 85-a, 86-a, 87-a, 88-a, £9-d, 90-a, 91-b, 92-a ‘5’:-#,94—5,

95-d, 96-b, 97-¢. 98-¢.99-b, 100-2
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~ 1. Socialization is a:

1N

101

2009 - 2010

ever ending process

(4) Discontinuous process

(¢) Competitive process (d) Conflicting process | 1+b,

’.15 ; y o il 5-c-,

7. ®The social order 1s maintained largely by: \ s
(a) Di€ision of Labour (b) Law 3.2

(d) State

Socialization -
he value of traditional i

3. Which one of the following is not t
Indian joint family
(a) Sibling unity
) Segregations of sex
4. Sbcial stratification in pre-Brit
characterized by:
(a) Status incoherence

(c) Status Subl_nission
5 Which of the following is not characteristic 0

(b) Conjugal unity -c
(d) Spirit of cooperations =
ish India was generally b

(b) Status dispersion

(d) Status conflict -
f caste system ?

(a) Hierarchy (b) Endogamy IR
(¢) Polygamy (d) Purity and Pollution L
‘ ]

6. Which of the following is an example of secondary group 1
(a) Family (b) Neighbourhood (c) Playground (d) Trade Union E\

7 Which one of the following is not an achieved status 7 |
(a) A doctor (b,)ﬂ‘—\/brahmin (c) A business man (d) A politician i '-.i !

8. Who among the following was of the view that occupation was 1 {
the reason for the origin of untouchability 1.
(a) Ghurye (b) Majumdar (c) Nesfield (d) Kapadia

9. Karl Marx made a distinction between class in itself and class \
for itself on the basis of |
(a) Religion (b) Emotion (c) Economy (d) Consciousness

10. Which one of the following Sociologists is known for the theory that
explain close connection between Values and Economy ?

(a) Max Weber (b) Karl Marx
(c) Emile Durkheim (d) Robert K. Merton -
11. Lothal and Kalibangan are associated with
) Hatappan Culture (b) Egyptian Civilisation
(c) Babylonian Civilisation (d) Chinese Civilisation
Which of the following Harappan sites are not in India
\(yKlohanhodaro and Harappa (b) Lothal and kalibangan
(c). Bhanwali and Ropar (d) Lothal and Ropar
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3, Which one of the following presents
(5 b oftl_re Indus Valley Civilization ?
e
X .
R ons isn s|p (d) art and architecture
(a) rituals to be adopted by people
(b) hymns in honour of the gods
(c) yagnas to be performed
(d) history of the Vedic period
The famous Chinese pilgrim Fa-h

the most significant

ein visited India during the

E'egion of
C g '
(:; R:ardra:upta | (b) Chandragupta 1l
Put in Taigel:rzti?l h I b 0
¢ i i
(following e 51 & ronological order of the construction of the
A) Puri Jagannath Tem
ple (B) Meenakshi

((5 )AMamallpuram Rathas (D) Qu;nbahi?r:;emple

BCD (byACBD  (¢) BCAD (d) CADB

Who i
o is the author of Hyat-e-Jawed biography of Sir Syed

Khan
(a) Shibli Nomani
z b
" \k‘w/z\llafHusain Hali gd; EZ:ZM?:OO#
: (ﬂa;l;’ct r;ﬁulntions were introduced by: A
a) Sher Shah im
: (b) M -Bi g
A (¢) Alauddin Khilji (d; Fi::)hzﬂl?;:i? il e
; (l\;:;tch the following: =
Battle against Amarsi
s e sing of Mewar : Babar
(C) Battle of Khanwa 3. m:ayun
3. ar
4, Jahangir

(D) Second battle of i

Pan
(a) A-3, B-2, C-1, D-4 oy
(C) A-4, B-Z’ C-3. D-1

J

(b) A-3, B-1, C-2, D-4
(d) A-4, B-2, C-1,D-3

20. (P::z;[ch the following:
Abolition of Pilgrim -
{8 Abiofiion of iziya - =~ o
(C) Declaration of Mahzar Nama % };63
o . 157
4. 1564

(D) Introduction o

f Dahsala Syste
({:}] :::;.’, 3-4, C-3. DI (}l;) An-]2 B-1, C-2
©)A-2,B3,C-4. DI (d) A2, B-l'c3’g-:
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23
(a) ]nnnar}-'-:\pn\
(d) Febmary—Mar

103 &z
le for change in seasons on the

{dentify the factors responsit
earth’s surface:

(1) rotation of the eart

(i) Inclination of the axis
(iv) rotation of the sun

Znd it (b) i and 1ii

Name the instrument used for

(a) barometer (b) thermometer

(d) hydrometet
h of:

W{gmmeter
3 infall in India is during the mont
i b ~e-September

h (i1 cevolution of the earth

of the earth
(e)i andii (d) i,iiand ¥
measuring hu midity.

aximum ra
(©) Scptembcr-Decembcr ch ;
following countries B cond largest rail

which- of the
network in the world ?

(b) USA

hich country is 8€OBr®
, olitically is a part of Europe ?
Ii (a) Ireland (b) Greenland  (€) Canary
| 26. Match list L with list 11 and select the correc

codes given below the lists
List-1 List-11 1\
(i) Hangul (A) Kaziranga [\
(i) Tiger (B) Dachigaur \ \
(i) Indian Lion ©) Sundrbans W
(iv) Rhinoceros - (D) G Forest -}1
i 1 il [\ \A
C D
D A
B A D
C A D B
Through which State 1o {he Aravali m
rashtra (d)

(@)Kajasthan (b) Gujrat (€) Maha
ol which the Cauvery Tiver flows:

The states throug
(a) Karala, Karnataka and Tamil Nadu
(b) Andhra Pradesh, Karnataka and Tamil Nadu
(©) Kerala, Andhra Pradesh and Tamil Nadu
(d) Maharashtra, Karmataka Tamil Nadu 7
29. The highest peak in India Territory is K- {n which range 18 it
located ?
(b) Trans-Himalayas

. (a) Central Himalaya

as the s€

(<) Russia (d) China
phically in North America but
tstand (&) Cuba 1

{'answer using the \ '\i

24.

75, W

i
(a) A B
B C
() c
(d)

ountains run 7
Uttar pradesh

27.

28.



t
(c) Karakoram R 104
Which e (d) Kumaun Hj
'¢h type of farming is common in areas of fo?v r;?;:?"?}‘ﬁs
all

(a) livestoek ranchj :
arpien anching b dairy farmin
y cultivation (d) intensive suhgsisl‘eﬂtc farm;
L]

How much will
| be the world ion i
if the present growth trends col:l?P“Iaf"O" B e ;g I
(2) 5.6 billion bS8 billion p
(€) 64 billion ((d J:I ssgubl:g -
is said i "
o s_rre _i!_rat in ord'lef_' To control inflation foreign j
(a) Ensu:fln*zef- Sterilisation here refers 1o: 7 Inflow neegs
8 that black money j , |
: : Y is account,
{(5} (éﬁ;np!mme with import-export reg::I::Bf:sr
i 2
o '.Vi[.l;:;‘;ﬁ vt!rar counferfeu currency does not enter ¢j
desi INg equivalent local curren |
esirable rate of exchange B Ry
Match the following ' :
(A)NABARD
(B) NCDC
(C) SCARDB
(D) NAFED

s
I.Financial assistance for Warehoming

'f.l!::.ﬁn;ncing agricultural credit
--.Inter-State sale of agrj :
4.Land Devc!upmen:'gmu“uml "
B D
3

(a)
4

(b)
(c)
%i?) " 3 2 I 43
e .
M&:gn exchange reserves of the country consist of:

2 1 4
I 2 3
4 1 2

34,
oreign currency assets held by the RBI

(b) Gcfd. holdings of the RBI
{,::r) :S‘per_::af Drawing Rights
hich is/ are the main provisi
(IT) Act 2000 7 e
@ L . ;
s )) Fi?i?! fecognition to digtal signatures and g
S isation o‘f Contracts through electroni i
& ing Hacking with computer s -t
. VAl afa o Ystem an offence
] ccording to the Censys
g to 2001, ¢ i
Tl he density of population in India
(a)304  (b)324

(d) All of the above

35.
of Information Technology |:

37.

38

105
Which one of the following schemes has not been merged wi
I.

the Swarna Jayanti Gram Sewa Rozgar Youjana ?
(a) IRDP (b) DWCRA  (c)NRY (d) TRYSEM
The objective of Tenth Plan was
(a) Berozgari Hatao (Remove unemployment)
(b) Garibi Hatao (Remove Poverty)
(c) Growth with equity and social justice
V(’,&H{Jrc;\\-lh with social justice and cmglc}-rpe‘nt
39. ~ BPO (Business Process Qutsourcing) 1s gamn
1 advantage (b) Economy of scale
ation (d) All of these
uation of currency’ is:
d foreign reserve deficiency

d improvement in balance of payments
palance of payments

g ground due 10:

(a) Factor cos
(c) Business risk mitig
The outcome of ‘deval
{p¥increased export an
(b) increased export an
(c) increase import and improvement in

(d) increased export and import
The Cairo Conference on Population D

40.

evelopment (199-

41.
emphasized:
(a) Terminal method of Family Planning
(b) Target-free approach towards Family Welfare
(¢) Use of moral suation
(d) Emphasis on the care o
Match the item of the List 1 with
then select the correct answer from the co
ListIl
1. Elected by Rajya Sabha
2. Elected by Lok Sabha
3. Appointed by Lok
Sabha Speaker
4. Appointed by the

President

f the girl child
the items of the List 1l and
des given below the

42,

lists:
List1
(A) Chief Election Commissioner

(B) Deputy Chairman of
Rajya Sabha
(C) Chairman of the PAC

A
a)
(b) 2
©1
(d)4 1 2 .
h one of the following Fundamental Rights is also

Whic : ‘
available to a foreigner on the soil of India .
the matter of public employment

(a) Equality of opportunity in

B
1
3

4

43,
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| . Face, caste or sex
(D-Protection of life

X and pers i i i
WM;:I ut authoriy oﬂ.fw onal liberty against action
on ing Presi
%) Firmnc: 'Eflhc following President does not appoint ?

¢ _ommrs.sron_(b) Planning Commission

as enacted in the yea
(b) 2003 -
Which of the folj 05 () 2007
ivan, 2001 "8 'S the slogan of Sarva Shiksha

(a) Citizen’s ori
griev.

(c) Legislation
Which amendme
to the Directjy

ances

(b) Financial matters
48,

{d)-Personal matters
nt of the Consityatj

S on accorded
e P : precendence
Rights? rinciples of State Policy over F. undamental
(a) 39" Amendm
ent n
(c) 44" Amendment (b) 42" Amendment

dthch one of the following
Istinction of having acted as Presi
| g a resident of Indja ?
((:’}le;:ss;t_:ce Mehar Chand Mahajan(b)4astice M Hidayatullah
S wh'l{: P.N. Bhagwati (d) none of the above ’
Gl ;::,5 of th; foffp\ving Bills must the President of India
) e sBa_a;Icuon Wwithout sending it back for reconsideration
ills i
1 ‘ (b) Ordinary Bj
((‘;:j) gl;':s seeking amendment of the Consiitut?on t
g (r: ei r;r:_:]ss(e}ci by both the House of Parliament
overnment gjy -in-ai
of the Consolidated Funga' Zsfgmms g ol iocapee

recommendations of India on the “basis of the
the Plannip

_ (d) none of the above
Chief Justice of India enjoys the

_ g Commission
(c) the Finance Commission
'When Was  Panchyati -
independent Indja?
(a) 1951

(b) the Union Finance Minister
(d) none of the above

Raj  system introduced s

post
(b) 1952+

(C) 1959 (d) 1962

=
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|53

54,

55.

56.

57.

58.

59.

60.

61.

—~—y

107 Sk .
Who presides over the Lok Sabha if neither the Speakernos
the Deputy Speaker is available ? L%
(a) member nominated by he President
(b) a member chosen by the Council of Ministers

(c)a member of the panel of chairman announced by the
Speaker
(d)

<enior-most member of the Lok Sabha
The Judge of the Supreme Court _ _

heir lerm
a) cannot be removed from office during . )
Eb]) can be removed from office by the President at his
discretion

(c be removed by the President on the recommendation of
\)Etal'l:'; Parliament

(d) can be removed by the President on the rccommend:mo.n of
the Council of Ministers

Under Indian Space Programme the GSLYV stands for:

) Gebsynchronous Satellite Launch vehicle
(6) Global Satcllite Link Vehicle

(¢) Geostationary Solar Light Vehicle
(d) None of the above
Which of the following parts of the
cooker hot ? ' .
(a) Ultraviolet (b) Red light rays (&) 'mfta:t:d (d) Cosln?ts::sas
Which one of the following compoum‘l\s is con’\!mony
iseptic i tes

an antiseptic in mouth washes and toot pas _ )
(a)Borax(b)Salt Petre(c)Hydrogen Peroxide(d)Sodium chloride
Lowest percentage of carbon is in:

(a) Cast iron (b) Steel (c) Wrought lron
Cryogenic engines are usedin o
(ar)yatemic reactors (b) rockets (¢) defrost tefnge_m_.m_rs

(d) doing research connected with super conducr:wm_-

[n ratio transmission, what does FM stands &); &ﬂaﬁon

(a) Frequent Modulation  (b) Frequency M(:; e
e Moni‘OTi“Bl_ %‘lﬁ?‘;‘:i’l and then select the

i t1wi
Match the items of the list 1 W -
correct answer from the codes given below the lists

sunlight makes the solar

(d) Pig iron

i List 11
List1 T
1. Oscillation in 1.mv:l im _
((g% irflﬁfl?}%i 2. A device consisting of a_we:tghl

swing on the end of a string
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Bl e
+3, Che ical elements in orde; )
Periodic Table 4 ;hd'"_mmic number ik The ratio of the ages of Sunita and Rani is 2:3 After \
ES o aximum departure from an | catio of their age become 57, What is the present age
B c q“"‘[!;’ ium value . (a) 24 years (b) 30 years  (€) 36 years (d) 18 years
1 3 4 f90. A reduction in the price of apples enables 3 person 10
4 3 5 3 apples for Rs. | instead of Rs. 1.25. What is the percentage
4 2 ; reduction in price ?
62 -55,? o 1 2 @20 (2 (c) 30 @3BV
s reat of global wafming is i ) ~971. Aand Bcan do a piece of work in 12 days: Band Cin l_i
concentration of: g is increasing due to increas; days.Cand A in 70 days. In how many days can A alone doit
g3, \DNitrous oxide(b)Ozone(c)Sulphur di 8 30 2 @180 (d) None of et
. The Euro 2012 Championship s phur dioxide(d)€arbon dioxi 79, At what time Rs 4000/~ will become Rs. 926\- @ 3%
(a) Poland and Germ al:onshlp will be_ held in: oxide " compound interest '
64 (c) France and Italy Y (b) Ukrame and Poland ' . (@) 1.5 years (b) 2 years (c) 2 Y2 years (d) 3 years
. Match the following (d) Portugal and Ukranic | 73. Ten years 3g0, Nidhi's mother Sita was 4 times older than het
List I (Championshi ; daughter. After 10 years the mother will be (wice older than
(A) World Badminton P) List II (Winners) the daughter. What is the present age of Sita?
Championship 1. John Higgins of Scotland | (a) 40 years (b) 50 years () 30 years (d) 45 years
(B) World Billiards . 74, The simple interest at X% for X years willbe Rs X on 2 sum
. Championship 2. Viswanathan Anadn of Indi (a)Rs. X (b) Rs100X (@) Rs. 100/% (d) Rs. 100/%°
! (C) World Rapid chess ; " 75. The product of two numbers is 786 and their HCF is 8- The
; ® Championship 3. Kin Dan of China LCM of the numbers is:
) World snook (a) 64 b) 48 () 16 (d)96
Championshi:r 4. Gao Ning of Sinapore 76. Choose the word which is similar n meaning to the word
65.  Which country has “ given in the capital letter APOLITICAL
Olympic Games ? won the right to host the 20 : (a) Anti olitical (b) Terrorist
3 66 (a) South Korezs g (b) Russi 14 Winter (c Tinterested in Politics (d) Subversive
. Oscar Award for * ussia (c) Canada (d 77, “MTivial means:
. (@)Angelina J O'fioi; gﬁllilcu-ess' at 81% Oscars go(es) lim"ce (a) Significant (b) Momemous\(yﬁmponam (d) Critical
,. : ve you(b)Kate Wi | :
E: ((:; gli{:: lgi;[:s‘f;or Hannah Mogatinate Wiuslet fo The Bessler P ll?}pé?:\?lf mfs)a;tams (c) Destruction mﬂ-"')‘:e?m“
67 ~ Who won' the 55:::11?% Millionaire 79. Choose the word that is most nearly opposite in meaning 10 the
£ fl)umdog Millionaire ? or Best Adopted Screen Play for word given in capital letters
a).Simon Beaufi CONFIDANT
; wfo, ) i
‘ (c) Simon Tuffel Y (b) Heath Ledger (a) Tumcoa\-‘f(gyﬁmgam (¢) Considerate (d) Firm
‘;The Government in the interi (d) Chris Dickens 80. Which of the Téllowing is not an antonyn o{: affinity !
<;3“}‘3"; el RSl el e (a) dissimilarity (b) discordance (c) antagonism (QFETOTE |
D . (b) 16% . 81. Docile means o ] \
1'._‘ 3 ’ - () 20% (d)21% (a) unmnnageab\e (b) dutiful {:}%ﬁbm}usswe (d) painful P \ \
© g2, He had taken {he shocking 1 ys quietly neither -xeresss™ ._.
b nor uttering any word of bitterness L
1
| \
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iﬁa ((:;;niling against
iring with issenting from
.&myon believe that bilingual education has prove
Ewien e Education in any one tongue : *dto
'ldvau e:s “. ith (b) limitation on
e go : g\rcr (d) connotations for
ol ounscilor."\-ou are an authority figure wh
e {'\ﬂeullvcl_v and sensitively to "
A -+- You with their feelings. Y e
{c;;'f;?ﬂﬂge—direcr (b) project — focus
isten — trust .
We e (d) concentraté - believ
Spenkermciﬂ};z{?d thm.a man who had been the |no\s:---- bli
e In a single speech clectrifv an audi public
2 e.;uh ;:rccmg crowd to their feet ’ B
ra G
) pedesrri:;g (b) accomplished
g;mtion (0. 36.87) (d) masterful
oose one word for
;;:nrence il phrase that must be changed for the
any psychologi
ogists today suggest (A) that we interpret dreams

by compare
- (B) the d ith (¢
. presons (D) life. reams with (C) the reality of each

87.  The first < C
; 1 year of child’s life i
rapid physical (D) growty O

- 86.

(d) D
tersied (B) in (C)

(a) A (b)

p B -

ll-_-;):r.-u:tir.u'l (Q. 88-89) (©) c (d) D

i Beneath each sentence. ‘o

E italicized itence. four different ways of phrasing

- 88 part are indicated. Choose the best nhem‘f{ ;::‘sm_;-_ o

Except for

¢ You and [ every:

(a) Avit ' Leveryone brought a present :

QU{/;] the exception of you and | cver)agne bm:zllre e
d gh

E‘ . 7

b1t x\;::ptt rlfbr your and I, everyone had brought

e pt ror }fou and me, everyone brought

She wishid ?l:a}tiue: I;irj.: c\’elfé\* 5 v

£ C ‘

E:;”:sc?t :m not willing to wo(:!l: ast:;ei? hﬂ’ﬂmﬂm‘“s o
3 glamorous as the other women’s .
k. more glamorous tha :

_ (c) glamorous

n the career of tl
he other wo
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Direction for (Q. 90-93) Read the following pass:
90.93) that follow!

and answer the question (Q ax
divide vs” said the Indian

“River should link, not : P me
Minister expressing concern OV ¢r inter-state disputes and uﬂ

state government to show ~understanding and consideration,

statesmanship and an application of the other .
Water conflicts in India now reach every level divide

every seament of our society. political parties. states, regions
and sub-regions within states. districts, castes and groups 3“5'
individual farmers. water conflicts within and between man;.l
developing countries ing a serious tum. Fortunately
the “Water Wars’. forecast by so man. have not et
materialized. War has taken place. but 0ver oil. not water.
Water is radically altering and affecting political boundaries a"l’l
over the world. between as W oIl as within countries. In India
water conflicts are likely to worsen before they hegin 10 be
resolved. Till then they pose a significant threat o eco’no_m-.c
growth. security and health of the ccosystem and the victims:
are likely to be the poorcst of the poor as well as the ven
source of water-
Conflicts might sound bad or negative, but they are logical
developments in the absence of proper democratic, legal and
administrative mechanisms Lo handle issues at the root of water
conflicts. Part of the problem stems from the specific nature of
water, namely that water is divisible and amenable 10 sharing.
are unit of water used by one is a unit deemed to others. It has
multiple uses and users and involves resultant trade-of_t's.
Excludability is an inherent problem and very often exclusion
costs involved are very high. It involves the issue of graded
scales and boundaries and need for evolving 2 corresponding
understanding around them. Finally, the way water '\s_Q‘lanned.
used and managed causes externalities, both posiive a_nd
pegative and many of them are unidirectional and asymmetric.
There is a relatively greater visibility as well as a greater
body of experience in evolving policies, fmmef '01‘"&5, leg_a\
setups and administrative mechanisms dealing with immobile
natural resources, however contested the space may be
Reformists as well as revolutionary movements are rooted 1n
issues related 1o land. Several political and legal interventions

; . o wién
addressing the issue © | justice has

f equity and socia

rivers. wetlands and acquifers. !




ne through land reforms op
nﬂ:;d to forest resources ang
over them have not necessarily beep
squately resolved, they have received muc
on, have been studied in their OWN right
.1l as theoretical mean, of dca_llng with them
been sought. In contrast, water conflicts have pg
ived the same kind of attention. )
rding to the author of the above passage which of the
ollowing is/are consequences of water conflicts ?
Trans-border conflicts between developing countries
ii) Water bodies will remain unused and unaffected till the
~ conflict is resolved.
 (iii) Water conflicts have altered the political boundaries
- within countries
“(a)only (i) (b) only (ii) (c) only (iii) (d) Both (i) and (iii)
~ why does the author ask readers not to view conflicts too
negatively?
- (i) Most countries have survived them easily
(ii) They bring political parties together
 (iii) They only affect the grass root levels
~ (@)only (i) (b) only (ii)
(c) All (i), (ii) and (iii) (d) Neither (i), (ii) nor (iii)
_ The author’s main objective in writing the passage is to
(a) Showcase government commitment to solve the water
: distribution problem
- (b) make a strong case for war as the logical resolution for
R water conflicts
- (¢) point out the seriousness of the threat posed by unresolved
) water conflicts
- (d) describe how the very nature of water contributes to water
~ struggles
. What is the Prime Minister’s advice to resolve water disputes ?
@) Link all rivers to make national grid
Politician alone can solve the problem
c) Bridges and dams can resolve water issues
Make consensual and conscious efforts
question is- followed by a statement and two arguments
nu _l_‘ét_;red.g and II. You have to decide which of the following
B €nt 1s a strong argument and which is weak agrument.
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95.

96. Choose th

|

Gtatement: Is it po!
Arguments: I: Yes,

can remove it

,ould demand '
[1: No, because &f n of poverty would ;

adicatio : 5. K%
-  of the coumtry- : .,
overhauling or the economy is are followed by two
(n this question, two statemen me the given statementsto
Iy B : 4 11, Assume U ) :
conclusions “umbﬂedsle::; to be at variance with commonly

if they .
b o f lusion 11 follows ﬁ

k your answer as
cts and then mar : )’l) g
knol\;[;:?y conclusion | follo\\.SQD/ fon ::e‘“her ol [cllqws
© smokers are wine=

i d)If
conclusions follow (

5 I;immmg:smt players are smokers. Some

. Addicts o

:ons: 1 All smokers are pia

apepe {1 Some wine-addicts ar¢ smokers i
e venn diagram which best illustrates the Y
t

-,
-b.
'
\I

classes:

- Doctor, Male, Female K‘\

i FQM.
97, Ina certain code language OPTION 15 codejd as UKX FQ

. will CHOICE be coded ?
g(;\;lz‘siKOF SFEF (c) ldCEFEDb (d: l&\;\:{‘l{g? _—
: s (G1, G2, G3, G4) and three DOY . BL, g
s Fi(:u;of’lzz s:dgnner such that no two b‘ogs shou\d.sat 1:033:':;; :c:) 7
:wo girls. If they are successively sitting what 1s the P

3.1 d
?az] gf‘l‘dagd 60 (/4" and 5™ (¢) 3" and 4* (g) 12;: gng 3.1 i
i i { 864 3 Lt ] ] E]
99, Find the missing number in the senes(d) i

720 (b) 288 (c). 12.0 _
100. (\;)hich one of the following 15 2 d!.s.'no(rt';t;s.ll?k ::Eing i
~ (a) Cooking books o e el

Q‘LC)/\V[iting books

.



aswers: M.S.W. 2009-2010 1
Bb, 2-c, 3-c, 4-- 5-,6-fll75-g, 5,9, 10-, 11, 1213, 1oy - 1648
e 1o, 20, 211, 226,230, 240, 25-, 265, 273,28, 19 005 g
3_? 3 4_; 3.5’_, 36-, 37-, 38- , 39-, 40-a, 41- , 42-2, 5-7, 58: . il
i7ea. 45, 49-D, 50-a, 51-8, 52+, S3-d, 54, 55-2, 567, 5T, 5% - " g
61 62-d 63- , 64- , 65-, 66, 67-, 68-,69-, 70, 71-8,6 P
77-0,, 78-d, 79-b, 80-d, 81-c, 82-d, 83-a, 84-c, 85-ab B
80291 92-,3-, 94-b, 95-b, 96-c, 97-, 98-, 99-, 100-

e e == e, aAAN Annl\ -n"‘.’ 3
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‘Direction : (Question 1-4) : Each of the following items
-consists of a word in capital letters, followed by four
words of group of words. Select one of them that is most
similar in meaning to the word in capital letter.

1. PROFANE ‘S _
(@) Clean (b) Sweet Smell (cwbéne (d) Abusive

2. DORMANT ol

(a) Efficacious (b) Passive (c) Impressive (g)Slippery
3. " ADMONISH ‘

(a) To appreciate | (b/)/"lg scold .
(c) To discard (d) To impoverish
4. DESPOT |
- (a) Leading industrialist  (b) Ruling elite
- (c) Pragmatic person ~~ (d)£ruel ruler

Direction : (Questions 5 - 6): In each of these questions,

four sentences are given, denote by (A), (B), (C) and (D).

By using all these four sentences you have to frame a

meaningful paragraph. Choose the correct order of the

| sentences from the four alternatives. ’

1 ‘5. (A)Organizations today are becoming increasingly popu-
lated by youthful, highly-skilled and educated workers.
(B) Two of the most prevalent and provocative organiza-
tional dynamics of our times are the themes of participa-
tion and change.
(C) These demands for participation are creating pres-
sures for internal organizational change.
(D) These young, skilled and educated workers bring
with them demands for a voice in the determination of
their own organizational density.
(a) ABDC . (b) BADC (c) ABCD (d) BCDA

6. (A) Modern research, however, has proved that there

were invaders even before the Aryans came to this land.
(B) It was thought that they came to a country which was
uncivilized and barbarian.
(C) They had evolved a civilization higher than that of
the Aryans.
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BCAD () BDAC (d) DBAG -
tions 7-10): Pick out the effectiyq
given choice (a), (b), (c) and (d) j,

Paj,
amuum to make the sentence a

, " €ach
‘_q(mgconﬁzsioninou:sodeﬁes.........._. fro
- pursuit of efficiency and economic growtp i:l Our
sassece... that these are the necessary iﬁgredxtems e

; P

((3) &?ﬁ - conviction derat;
- (O Derives- evaluation  (d) Extends - planpy. "
- 8. The problem of housing shortage ..... P w'g
Population explosion has also been e e U
* policy.

() Projected - discussed

(b) Dispensed - acknowledged
a (c) Threatened - manifested
‘_ ) (d) compounded - addressed

g 2 CQUALNOF .00 bebri
5 organ-.fzaﬁon for which they Wg;!:
ies.

(b) Emerge-s - consij

________

individyalg and th
e
can be teeeeennn 1O the

(b) Interaction - Improyed

:" IO&‘ i d SO isti 1
_ sector of India’s econopme -y " of the

to over SIIX HT-[HJ
. : 0!
(a) Factors - ajpg

| (c) Sf:gmem =~ Provides
th ;

Ce - evaluated
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@8 O ©1u0 (@105
ich one of the following is a Pratiloma
14 itional Hindu system?
?:; Kshatriya boy with a Vaisya girl !
) Brahman boy witha K.sh_atﬁ;y'a girl i
© Sudra boy witha lt':sshadt;yaf-glm
Vaisya boy with a Sudra gl L
%)\e average weightof 9 app}es umas;sbya'lg gm %,
®- of them weighing 120 gm lm_rep'!.ace by another
eight of the new apple 1s:
{:}esgﬂ on  (5)200gm  (©100gm (1 ET

i balls are red
16. Thereare 30 balls in a bag. 60% of ﬁ\«;x w20

the rest are blue. What is the mmmwithoutlooking 502510

taken from the bag
that must be ta least two blue balls h':m.'(f!i )i;;“

be certain that at '
Year Plans recognized

13 (©)16
" 1‘2 ) following Five -
% \{\I{h;;:r? rgez{e?;;ment as the core of all developm!
u

efforts?

()1912 (b) 1914 d its report recently

e who Submitte : i te
> M‘E\Mﬁ:iﬁ:i‘f < India, was set up to IWVeSHEE
: to the

ch of the following: . |
‘g)ulrregularities for foc!d g\: 031 programme
(b) Recent Bomb blast in e

(c) Godhra Kand

d) Disappearance Ot =
20. ’Sl't)xe income tax exerin;)!t;?sr; :
1dhf): ?%?5 ?:.;5 Yems?..ﬁﬂ lacs ngo lacs (d)
Do ick does nothave
"pOS' floppy dis E s
¥ 8?: Book record ) = e
(c) aRoot directory u’.t“al

bhash Chandra Bose

: Nemﬁis;:it for senior citizens above
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24,

25,

26.

27.

28.

20.

30.

80
'Miss Natalie Glevoba who was Crowned “'Mms U
- 2005” belongs to which of the following counmes?
(a) Russia (b) Australia  (c) Canada (d) New Ze
‘CTBT is related to: .
(a) Space research (b) Third generation Computet
(c) Nuclear weapons  (d) Assessment of taxes

Who invented Polio vaccine? ; O‘?
(a) C.S. Mist (b) C. Oxdon (\"”‘m
(c) Exfolia Satin (d) Albert Sabin 52 i
Arrange the following in correct chronological sequence:

1. Russian Revolution : “‘Z
2. American War of Independence :
3. Spanish Revolution =N 53

4. French Revolution

(@)1,2,4,3 (b)2,4,3,1 (c)2,1,43(d)4,.23,1
Different Sufi Schools or order in India are known as: .
(a) Khangahs (b) Qalandars -(c) Darveshs (d) Silsilahs %A.
Akbar had incorporated some principles of social reforms
in the Din-i-Ilahi which of the following did not form
part of Din-i-Ilahi? | \&

. (a) Remarriage of widows (b) Monogamy 5

(c) Rejection of seclusion of women t
(d) Prohibition of child marriage .
The famous Sikh leader Banda Bahadur was captured and =~ |
executed during the reign of the Mughal emperor i
(a) Jahandar Shah (b) Aurangzeb ‘
(c) Farrukhsiyar (d) Bahadur Shah -1

Who among the following was the spiritual guru of
Shivaji?

(a) Ramdas | (b) Ramananda

(c) Ramanuja (d) Guru Teg Bahadur

Who accused Indian National Congress of practicing
policies of pray, petition and protest?

(a) Lala Hardayal :
(b) Bal Gangadhar Tilak

(c) Subhash Chandra Bose

(d) Sardar Bhagat Singh




3 3. The minimum velocity required b

8
he
' 34,
=) _
q, - 35.
& 73
£ 37
38.
)
40.
i
| ?

' 3. -

2
-

During a t t'alsola: ethethat art g
B o e A
(a) Corona (b) Chromosphere
~ (0) Photosphere - (d) Sunhole

L
- i)

;.,1'..
| AT
to

y satellite to escape
earth’s gravitational pull is: |
(a) 18.5 km/s (b) 11.2 km/s(c) 21 km/s (d) 41.7 km/s
During a Thunderstorm you are traveling in a car. To
protect yourself from the lightning you will have to: .
(a) get out of the car and lie flat on the ground

- (b) leave the car and take shelter under a nearby tree

. consttution of a nor

(c) hold the nearest electric pole

(d) remain in the car. |

Which of the following burns in contact with water?

(a) Sodium (b) Hydrogen (c) Magnesium (d) Calcium

Which one of the following gases is produced by

fermentation? |

(d) Chlorine (b) Ethylene (c) Carbon dioxide (d) Methane
“Which is the most abundant noble gas?

(a) Xenon (b) Neon  (c) Random (d) Argon

The AIDS virus destroys which of the following systems
of body?

(a) Respiratory system (b) Defense systc:m

(c) Cellular system (d) Nervous system

' anism is to:
The chief role of chromosomes in an organisit
(a) Regulate the hereditary traits of the orgamsg

(b) To regulate body metabolism

(c) Synthesize glucose thesis
cess of photosyntt

(d) Regulatett)l:iffgr‘s)! cex is determined by the St:i);
o et Ir';les X and Y. What would, then, be the gene
chromoso . sl e

c) XY
@Sy . A e
The disease spread in poultry 15 C

: Bovine
¢) Malathion (d)
(a) Ranikhet (P) Root ket ) phrodite?

. Which of the following is he&;;n?:1 e
((2; lé::tgwdvvgfr;m (d) Butterfly

(a) XO
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: 'Double fertilization in flowers takes place in:

43,

45,

46.

47.

48.

49,

B

(a) pollen tube (b) ovule () ovary  (d) nucleus k.
Structural unemployment arises due to: £
(a) deflationary conditions

(b) heavy industry bias

(c) shortage of raw material _

(d) inadequate productivity capacity - -
National Development Council is not concerned with

which one of the following:

(a) assessment of resources required for plans

(b) formulation of plan document

() review of the working of plans _
(d) recommendation of measures to achieve the aims and
targets set out in the plan. |

Intellectual property does not include one of the
following: _

(a) Copyright (b) Trade marks

(c) Agricultural subsidies (d) Patents

;
FA

o

Most important source of our information on the culture
of ancient Indian Society is:

(a) Archeological excavations

(b) Antiques and monuments

(c) Epics and Literature

(d) Inscriptions and coins

“Culture of Poverty’ is written by:

(a) Lewis Mumford (b) Karl Marx
(c) Oscar Lewis (d) Robert Redfield

Social stratification js basically concerneq wit the study of: |

(a) Role and role conflict (b) Large corporations
() Racial and ethnjc groups "SR

(d) Social classes and status hierarchjeg -

Looking glass self refers to;

(@) a person you see when yoy Jook in a mirror

appraisal of otherg

(d) the “self tha; exists within You when you are born. _ P
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\ecording to G.H. Mead, a child was nat shla e c1e
~ gan 't'f:"'likésbasl«:—zf-{aall'l‘I ?in't:a duld=Was il
" (a) itwould take the role of others
1 @® }t was able to define the cultural boundaries
| (¢)itwasable to understand the ‘significant other’
: 3 (d) it was able to take the role of the generalized other.
51. Olympic 2004 games were held in: '
(@ London (b) Athens  (c) Tokyo (d) Barcelona
52. Which one of the following dates is celeberated all over
the world every year as Human Rights Day?

ecember 19‘1‘ (b) May 1*
(c) August 8* (d) September 5%
53. The process of separating components of a mixture by
making use of difference in their boiling points is called:
(a) C!estructlon distillation (b) displacement
. (c) filtration (d) fractional distillation
' 54. People drinking water from a shallow hand pump are
likely to suffer from diseases:
1. Cholera 2.Typhoid 3.Jaundice 4. Flourosis
(@)1,2and4 (b)1,2and3 (c)2,3and4 (d)1and3
55. The first sultan of Delhi who initiated the policy of
associating Indian Muslims with administration was:
(a) Balban (b) Firozshah Tughlaq
(c) Iltumish (d) Alauddin Khilji =~
5. Protesting against Simon Commission in a
/ demonstration, Lala Lajpat Rai sustained fatal injuries. -

._

Where did the incident occur?
' (a) Amritsar (b) Meerut  (c) Lahore (d) ]a'landhar.
57. Charles Darwin discussed the theory of organic evolution
in his book ‘Origin of Species’ published in:
(a) 1859  (b) 1823 (c) 1889 (d) 1§39
58. ‘Asian Drama’ the book discussing the dilemma of
development in developing countries 1 authored by:

/(a) Galbreth - (b) Amna:h S;n
(c) Gunar Myrdal (d) CR.M iin
ks is not written by Karl Marx

59. Which of the following booOXs 1
(a) A Contribution to the Critique 0
(b) The First Indian War of Independence

f Political Economy
1857-1859
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~(c) Poverty of Philosc;pl?y - 2

d) The Philosophy of Poverty - & .
I(..e)ft-Arm medium pacer of India, Irfan f’athan bec. |
the first bowler in the history of Test Cricket to claip,.

0

’

60.

January 2006. Where was the match played?

(a) Peshawar (b) Karachi (c) Kolkata (d) Bang.a_lore
If BRAIN is written 12345 and DIVIDE is written
647468 then BEREAVED would be written as:

(a) 18273876 “(b) 18283786 (c) 18283876 (d) 18283768

If REASON is coded as 5and BELIEVED as 7, what is the

code for GOVERNMENT? ¥

(a) 8 (b)9 (c) 11 (d) 13

63. If clerk is called butler, butler is called manager, manager

- iscalled teacher, teacher js called clerk and clerk is calleg
principal, who will teach in a class,

-(a) Manager  (b) Teacher |
England is related to A
Greenland is related to:

61, as|

62.

64.

! - hat-trick in the first over of the match against Pakls_tan‘in

(¢) Clerk (d) Principal = |

; earth’s
(@) 185

1 33. During

protec

(a) get

~ (b) lea:
(c) hol

(d) rer

34. Whicl
(a) So

35. Whic
ferm
@€

tlantic Ocean in the same way.

ctic ocean
d) Antarctic ocean

comes next in the following

(a) Pacific ocean

(c) Atlantic ocean

Which is the number that
sequence?
4,6,12,14, 28, 30,
(af32 * =

65.

Sca

B.
v

~

- (a) Abolition of Untouchability

(b) Right to Propagate religion
(c) F::eedom of speech and expression

(d) Right to minorities to OPenand administer institutions
of their chojce '

67. In June 2005 Sultan

g
4 e “Nrawn.

ned by CamScanner
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" 9. Marks obtained by 100 students in a G.K. test are shown
- as below. Compute the Median and identify the correct

i Raj_ answer from the alternatives: Ly,
Onaj ;: . 11\\Idark? (m) : 30-35, 3540, 4045, 45-50, 50-55, 55-60, 60-65
| 0.0

1 Students (f): 14, 16, 18, 23, 18, 8, 3
L (24343 (b)4543  ()4743 (d)485
e 9 70. A father is now three times as old as his son./ Five years
ago, he was four times as old as his son. The age of the

| son is (in years) |
@12 15 (918 (20
' 71. Ina town, 65% people watched the news on television,

K | 40% read newspaper, 25% read newspaper and watched

h | the hews on television also. What percent of the people
.~ neither watched the news on television nor read a

y & newspaper? g -

(a) 10 (b) 15 (c) 30 @20

- 72. Monthly pocket money spent by B:A. (Hons.) Economics
class of 50 students is shown below. Calculate the mean
of the distribution. ~
Pocket Money (Rs.) 100-200, 200-300, 300-400, 400-500,500-600
No. of Students (f) 15 12 10 8 5

_ () 208 (b) 302 (c) 320 .(d) 335

@:} 12 men or 1o women complete a work in 21 days. How

many days are required if 8 men and 15 women are

employed for the same job?

27 (d)30
() 20 (b (c) 27 (d).
74. Which river in South Indiais called Dakshin Ganga?

(a) Krishna (b) Narbada (c) Kaveri (d) God.awri I
. 75. Aravali Rangeisone of the ...ccoeeneees mountain ranges .

of the world: -
(a) Very young (b) Oldest (c) Youngest (d) .Verydold ;
76. The concept of sustainable development was IntroGuce

g\ v\ v, \® 2\8
e A U s AR i’\cq mﬁq
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o wb)':thﬁHWorld Commission on Enviro ,
e MNDEeLOP 1985 . (c)1987 (d)1999
77. The concept of Human

78. Generally sources of energy are classified intg.

79. The goal of National Health Policy 2002 and the Tenth

80. Which among the following is not a component of

81. Jawahar Gram Samridhj Yojna (JGSY) and Employment

82. Which of the f

T A A T - A .__.‘ ITREENGDT ot Rl = S - .
LTI AWN IR e S TR R N . o o T
- i i

EREA =N

(a) 1990 (b)

Development has four mad
: components, which one of these is not a part of it?

(a) Productivity (b) Purchasing

& Sustainability (d) Empowerment 5

conventional and non-conventional categories. Which 15
among the following is not a source of non-conventiona] :
~ energy: -
(a) Bio-gas | (b) Solar energy
* () Natural gas (d) Wind power e

Planis to achieve a zero level of growth of HIV/ AIDS by
the year: ‘ |
(a) 2010 (b) 2007  (c)2012 ' (d) 2009

globalization:

(a) Free movement of labour among differ . o
of the world - e ereni.: countries

(b) Reduction of trade barriers ]

(c) Integration of tribal society into i i :
(d) Free flow of technology Finiindizstrial Soclety

(a) September 2001
(c) 26" January 2001

ollowing .
(a) C)'fdical and ’seculﬂg- 'S Tota type of une
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St er(iio in1992. This summit adopted a global action plan
" called;
- (a) Agendal (b) Agenda 21 (c) Agenda 5 (d) Agenda 10
4. India is one of the few countries which has a forest policy.
It was revised in 1952 and again in M T
(a) 1988  (b) 1990 (c)1998  (d) 2001
'85. The literary rate for the country as a whole was 65.4
- percent in 2001. It was 75.9 percent for males and
............... percent for females:
_. (a) 55.4 (b)542 (9563 \(@f534
ith | 86. India’s contribution to the global debate on Women's
. issues has been rich, diverse and in many way unique. In
this endeavour which one of the following was set up in

1992:
(a) Rashtriya Mahila Kosh
d (b) A task force on women and children
| (c) National Commission for women
e (d) Department of women and child development

87. Inanattempt to organize the backward classes for reform
and protest against caste system in general and the
Brahmins in particular who founded an association called
' Satyashodhak Samaj?
- (a) Balgangadhar Tilak (b) Jyotirao Phule
(c) Bhimrao Ambedkar (d) Justice Ranaday
88. A proclamation of National Emergency automatically
suspends: |
(a) All fundamental rights
(b) Right to frreedom - .
(c) Right to constituﬁgnal Remedies
d) Only (b) and (c) above
89. gN)hlle zp(pt))intin(g )a Governor the Presid.e‘r.lt generally
" consult the Chief Minister of the State. This 1s:
~ (a) a matter of convention
(b) constitutionally required -y
(c) because parliament has given a directive

d f the President | -
90. %N)hz crzillilstc}:(h(.;rges the duties of the office of Governor if it

VSRS
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' falls vacant due to the death or registration of
Governor? ' .
() The chief justice of hflxa\
(b) The chief justice of High Court .
(c) The senior most judge of the SuPreme Cmfrt
(d) The Governor of the neighbouring countries. -
91. A new face.and structure to three tie Panchayati Raj.
System in India has been given after 73" constitutiona]

amendment in:
(a) 1989 (b) 1990 (1993  (d) 1995
92. The most important stimulant in tea leaves is: 1 7

(a) brucine  (b) caffeine (c) phenyl alanine (d) theine 8
93. Malaria can be cured with a drug extracted from: |
(a) belladonna tree (b) oak tree
(c) amaltas tree ~ (d)cinchona tree
94. Which of the following helps in clotting of blood?
- (a) Vitamin B (b) Vitamin B, (¢) Vitamin D (d) Vitamin K
95. Night blindness is caused due to the deficiency of which
Vitamin? >
(a) Vitamin A (b) Vitamin B () Vitamin C (d) Vitamin D
96. Triple Antigen vaccine js given to children to protectthen |
against: ' . ; -
(@) Virus fever - (b) Whooping cough
(c) Contagious diseases (d) Tetanus

97. The oldest form of COmposition of the Hindustani vocal
music is: ¥

L |

(@) Dhrupad (b) Ghazal (¢) Thumei (g p ¥
. f /
98. Who.wrote the dialogues of T.V. Sena(l Izdal?;lfh(;rgltaese
. (a) Jawed Akhtar (b) Mas :

00m Raza Rah;
" \(:1)111 {\Cxl'_nland Shamla- (d) Prakash Jha .
state leads in the Production of tobacco?
((a)) Ix;\ndh;a Pradesh (b) Maharashrs
¢) Punja du |
100. Consider t_he first fo Calir.fs zaf Im;d; Eim.h;;\rk correct

(A)Ali By :
ok e, O se 0 v
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Answe-r: 8-a, 9-b, 10-c, 11-a 12-, 13-, 14388
' o4 25-,26:d,21-,28-,29- 305

39-d, 40-d, 41-,42-,43-,¢ -
3., 54, 35:b, 36 5T, b33
67 68,69 70 TL - 90-d, 91
..b 65"0, 66 " ’ ! ’86- ,87" ,88‘ ,89 a’. :
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.“foraging”?

by man?

wAc) Shifting cultivation (d) Pastoralism

population decline amohggTV:caiz:;‘e Ga Caﬁs—é;f"r th? ®
(a) Cholera (b) Natural calamity : '
(C) Small POX

(d) Venereal disea
Which one of the following j BB
Tt ancioky? . Ing is not ;he characteristic of

(a) Hierarchy (b) Uniformity (c) Holism (d) Continuity
Which one of the following is the correct meaning of

(@) Food gathering and hunting

(b) Horticulture (c) Intensive farming (d) Pastoralism
Which one of the following is a religious minority in
India according to Minority Commission Act 1992?

(a) Jain (b) Parsis (c) Jews (d) Bahais |

When was First Backward Classes Commission set up?
(a) 10the January 1950 (b) 29* January 1953

(c) 10" January 1955  (d) 29" January 1961

Which one of the following is the crucial characteristic
of an industrial society? 5 : :
(a) Decline in joint family (b) Decline in moral values -
(c) Declining interest in religion S

(d) Mechanizaton of production

Which among the following cereals were grown earliest

(a) Wheat and Barley (@,’Rice (f)/b-lﬂlgts(d) Maize
Which one of the following 1s correct?

(a) Hypergamous marriages generate under-supply of
grooms and over-supply of brides in higher castes
(b) Hypergamous marriages create asymmetrical

relationship between families of bridegroom and bride
(c) Both (a) and (b) are correct

(d) Neither (a) nor (b) 1s the correct answer

The word ‘Jhum’ among tribals refers to the mode of:
(a) Food gathering (b) Fishing



absolunsm of the Sultans of De1h1'?

11.

12.

13.

List of Concepts Name of Scholars E
A. Culture of Poverty 1. Karl Marx
B. Protestant Ethics 2. August Comte K
- €. Theological Stage 3. Gunnar Myrdal 4
~D. False Consciousness 4. Max.Weber §
: 5. Sigmund Freud
Select the code: | A
- A B Eaitlion s
@ 5 2 SR
(b] -" .8 4 2 1
(c) 4 < '8 1 2
(d) 2 % 3 1
Match the following: ‘
tigb-1. List - I
A. Clash of civilization 1. Amartya Sen
B. Identlty and V_lolence - 2. Alvin Toffler

1at generﬁl

(a) Wazir +(bY Ulemas (c) Quran (d) Cahph
Match the following: |

(Minority Development Scheme) o (Year of e;;abzlig '

A. Maulana Azad Educational Foundation

B. Minority Educational Institution Commission 2. 1989

. C. Area Intensive and Madarasa Modernization 3. 1993 ”‘i
D. National Minorities Development and 3 |
- Finance Corporation (NMDFC) 4.1994 - .
Select the code: . 2

A. B €D
(a) 1 7. 3 4 0.
(b) 2 1 3 4
(c) 4 2 1 3

(d) 2 4 1 V3
Match the famous concepts with the names of scholars:

C. Power Shift

3. Samuel H ton
D. The Last Moghal muel Funtingtonsg

4. William Dalyr ympl'_.:
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! 15,

E .

17.

18.

19,

(d)

20.

T
- Select the Code:
e S sp }
e (a) i A & | E 3D
). o+ 3
(c) 1 3 4 .
d) 8- -1 g

14,

y istas i e g v 2 b te 2t Al e, | 4 ’ ;
R T = e W) | S e o A N, Tk
e e S R A p N o
: TS S s e = IR A R L o

When was National A
launched in India?

(@) 1990 (b) 1991 (c)1992.
How much Iodine is required daily fo
growth and development?

(a) 50-100 micrograms (b) 100-150 micrograms

(c) 150-200 micrograms (d) 200-250 micrograms
Which of the following disease is not included under
Universal Immunisation programme?

(a) Blindness (b) Pertussis (c) Measles (d) Childhood TB
How many rupees financial assistance is provided to -
patients of Below Poverty Line (BPL) section in selected
government hospitals under the scheme called
‘Rashtriya Arogya Nidhi'? :

(a) Rs. 25000 (b).Rs. 10000 (c) Rs. 50000 (d) Rs. 75000
When was the ‘National Rural Health Mission’
Launched in India?

(a) 2001 (b) 2002 (c) 2005 (d) 2007 .
Which one of the following is not true about Pulse Polio
Immunization Program in India?

(a) Polio is a disease caused by Virus %
(b) Pulse Polio Immunisation Program was launched in

1995-96 h i

(c) Initially the prog St

' below the age group of 3 years.

Chﬂéj 1‘: I:o chelerate the pace of polio eradication, the

Int Org:t age group was increased from 1996-97 to all
ar

' r the age of 6 years. -
(\:/l\}lﬁifgr?: g? the following is true about the National

i BS)?
i nefit Scheme (NMB
Materm‘tyhz;e was launched on 2 October, 1995. -
E?J)) Tz;tl'e 5: at providing assistance to all women under
im

IDS Control Prdgram (NACP)

(d) 1993
r normal human

m was launched to cover all
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the age groups 20 years. : ;
(c) Tlfis §cr.1;er€1e' provides financial assistance Qf |
per birth for the first two births to all pregnant we ter
who attained 19 years of age and belonged to B L

-

~ households. S T
(c?)uT;is scheme provides financial assistance of Rs. 500"

per birth for the first two births to all pregnant womenp k|

of rural areas.
21.  Match the following:

List - | List-1II =
Progranunes : Year Launching :
A. National Slum Development Program 1,1997
B. Two Million Housing Program 2. 1996
C. Swarna Jayanti Shahar Rozgar Yojna ‘3. 2001
D. Valmiki Ambedkat Awas Yojna 4. 1998
Select the code:
; A B & D
(a) 2 4 1 3
(b) 2 1 4 3
() 4 2 3 1
Wy <3 . 3 1 4

22, The High-leve] Plenary Meeting (HLPM) of the UN

, also known zg the world
millenniuym Review Summit, was

e h } 5] WhiCh COil]Ci y >S with:
o 59::: “hnLversary of UNO (b) 60 annivorsar}t :;f UIiJg)
(c) 58 anmversary of UNO (d) 57th Elflniversqr fUN .
Match the foHowing; SRy e O
A. Brahmg Samaj
B. Veda Samaj ; gombay
C. Arya Samaj | 3' l\/flzjgal‘
D. Prarthng, Samaj " Na R ‘
T Select the Code: + North Indiq
| ’ B C
I R et . 0
1
2l | (C) 2 4 1 3
‘ d
% ( ) 2 3 4 1
7 |
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25,

26.

27,

28.

29.

30.

. li\dllatch the following: g
ist-1 ' .
g.. é\::i;r;ﬂrlrllgrg Employment Guarantee Act I1J152t0-E)(I)I
v rammeen Rozgar Yojna 2. 2004
ational Food for Work Program 3.20
D. Pradhan Mantri Sadak Yojna y
Select the Code: '4. . |
A B C D
(a) 3 4 2 1
(b) 3 - 4 1
(c) 4 2 3, .21
(d) 1 2 4 3

93

Which of the following is not the goal of Sarva Shiksha
Abhiyan (S5A)? '

(a) All 6-14 age children in school/EGS (Education
Guarantee Scheme) Centre/Bridge Course by 2005

(b) Bridge all gender and social category gaps at primary
stage by 2007 and at elementary education level by 2010.
(c) Universal retention by 2010.

(d) Motivating all children upto the age of 14 to go for
professional education.

The National Literacy: Mission aims at to attain 2
sustainable threshold level of 75 percent literacy by 2007
by imparting functional literacy to non-literates in the
age group:

(ag) 1%-20 $ears (b)20-25 years(c)15—35 years(d)35—50 years
districts of the country have below 30 percent

How man :
literacy ra)Ee of females as per Census of India 20017
(a) 27 - (b)37 (c) 57 (d) 47
Who among the following is remembered as the ploneer ;
. . " ? | :
of economic nationalism?
(a) Bipin Chandra Pal (b) Gokhle : | §
R.C. Dutt adan Mohan Malviya | &
%fl)om; rr.xany spokes are there in the navy-blue wheelin ! ."
Indian National Flag - @2 |
a ' S pasedon %
'(V%)hat is the first month of National Calendar b2 i
ka Era? ‘ 2None . 8
?:)gaisakh (b) Phalgun (c) Chaitra (d) ;1 |
; % /7
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* Which one of the following Standing Committee:
~ Parliament consisted of only members of Lok Sabh ?
(a) Committee on Public Accounts o

(b) Committee on Public Undertakings

(¢) Committee on Estimates  (d) None
Future General Election will be for:

(a) 14" Lok Sabha (b) 15" Lok Sabha
(c) 16* Lok Sabha (d) 17" Lok Sabha _
‘Which among the following planets’ position in terms
of distance from the Sun keeps changing? .
1. Uranus 2, Jupiter 3. Neptune 4. Pluto

(@land2  (b)2and3 (c)3and4 (d)1and 4 E F
‘Which one of the following programme aims at
providing training and skills to women to facilitate them
to obtain employment or self-employment?

(a) STEP (b) Swayamsidha

(c) Swawalamban (d) Nari Utthan

SHG is acronyn of; |
(a) Seif Help Growth (b) Safe Hindustan Program

(c) Safe Housing Program (d) Self Help Grou P

When was National Policy on empowerment of women

adopted by the Government of Indja?

~ (@)2005  (b)2003 (c) 2004 (d) 2001

37.  Which are the five daughters of India in whose name
Sree Shakti Puraskar is presented on International
Women'’s day every year?

o (a) Kannagi, Mata Jijabai, Devi Ahilya Bai Holkar, Ranj

. Laxmi Bai and Rani Gaindiliu -
(b) Mata Jijabai, Kannagi, Indira Gandhi, Rani Gaindiliy
and Sarojini Naidu
(c) Sarojini Naidu, Indira Gandhi, Vijay Laxmi Pandit,
Begum Hazrat Mahal, and Rani Laxmi Baj
(d) Devi Ahilya Bai Holkar, Rani Gaindiliu, Begum
Hazrat Mahal and Sarojini Naidu

38. Equinox means :

(a) Days are longer than nights

(b)Nights are longer than days

(c) Days and nights are equal

(d) The shortest day and shortest night in the year.

it b o el
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. Purity and pollution are chy ' S TS
e ci e R ;
System. These characterj characteristics of Indian caste

G) Aret stics : ' .
. emporary in nature (b) Are
% s permanent and
II ; rt}ever be chax}ge'd (c) Can be achieved over a perioc(i:ig;
sheqy & me (d) Are individual but not gro ist
04 ~ 40. Industrialization and mod B charactesfics
} m i 1 I 1 i
- | leads 1o 0dernization in Indian society

)3 1 (a) Decline of casteism (b) Hegemony of Upper castes -

g (¢) Growth of Casteism (d) Homogenization of caste
4 3 - System

41.  Which of the following is a ‘Great Circle’?
\?Aﬁ:tic Circle (b) Equator
¢) Tropic of Cancer  (d) Tropic of Capricorn
42.  Match the following:

{ List - I ' List - II
A. Atoll : | 1. Dew point
g : B. Crater 2. River
! C. Condensation 3. Volcano
} D. Denudation | 4. Coral Reef
-3 Select the Code:
g A B C D
é (a) 1 2 3 4
b (b) 4 3 2 1
[ ©) 1 4 2 8
4 3 1 .

, —_ : i
43, ’Fall of Bastille’ is associated with: |
(a) Russian Revolution (b) American Revo}uhon
(c) Industrial Revolution (d) French Revoluno.n ‘
- 44, Crusades were conducted by European Christians to

i domination of:
liberate Jerusalem from . |
(T’El) Turks(b) Palestinians (c) Libyans (d) Egyptla?s &
45. Roman Magsaysay Award is named after the for

President of: | I
ilippi Jailand (c) Indonesia ( )
¥ ggllihiipaﬁiscrcsz)yz for ligh(t zunplification by:
- %a?Sﬁmulated Emission of Rz.tdi‘o Waves
b) Stimulated Emission Radiation —
EC) Spontaneous Emission of Radio

e ——
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?%md 3 (b) L1ght (c) Heat lec
plant with green leaves placed in red hght will appea
_ (a) Black . (b) Green (c).Red (d) Violet = %
49.  The oil in the wick of an oil lamp rises up due to:
(a) Pressure difference  {byCapillary action
(c) Low viscosity of oil ~ (d) Gravitational force
50. In the process of galvanization an ircn sheet is coated
with: -
(@) Aluminum (b) Zinc  (c) Tin (d) Ga]ena'
51.  The chemical name of vitamin C is: '
(a) Citricacid  (b) Ascorbic acid -
(c) Oxalic acid  (d) Nitric acid
52.  The chief constituents of ‘gobar gas’ is: -
(@) Methane  “b) Ethane (c) Propane (d) Chlorine
53.  Which of the following is not a natural occurring
element?
.(a) Uranium (b) Thorium (c) Californium (d) Neptunium
54.. The onion is a modified form of:
- (a) Stem \ﬂa’%oet (c) Leaves (d) Fruit
55.  Pollen grains in plants are produced in:
(a) Roots  (b) Leaves teyFlower (d) Stem
56. - The pancreas secretes : S
(@) Insulin (b) Vitamin A (c) Bile Juice (d) None
- 57. Ageneisa: '
(a) Sleep inducing drug  (byUnit of heredity
(c) A kind of vitamin (d) A type of body cell
58. =~ When was Communist Party of India (Marxist Leninist)

formed?
(@) 1971  (b)1981  (c)1969 (d) 1921
59.  Who is the author of Tarikh-e-Ferozshahi?
(a) Minhaj-us-Siraj (b) Isami (c) Zia Barani (d) Abdul Haq
60. Whose military officer was Ibrahim Khan Gardi?
(a) Hyder Ali (b) Ahmad Shah Durrani
(c) Peshwa Balaji Rao  (d) Raja Suraj Mal
61.  Who was the first Mughal emperor who issued Farman
to the English to open a factory at Surat?

ﬁ, ._ %
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67.

68.

- 69.

70.
b7l

72.

. _%-j.(l'?)
' (c) Shah Jahan i ¢
. BIFRwas established under the : '
- (a) Sick Industrial Companies (SICA) ‘

o ' 97
Viohammad Shah

Bl e
d) AUIangzeb

(b) Industrial policy of 1980 (c) Comparies Act (d) MRTP
Wherc? was Sir Syed Ahmad Khan born? | S
(a) Aligarh  \(byDelhi (c) Bijnor (d) Muradabad

Who is the author of Sir Syed Ahmad Khan biography
Hyat-e-Javed? | '

. (a)ATtaf Husain Hali  (b) Shibli Nomani

_ C) Mohsinul Mulk (d) Ross Masood

How much does a Muslim pay Zakat on his commercial
capital? | :

(@) 5% (b) 4% Q¥ % (d) 2'/,%
Which of the following European country was ruled over
by Muslims in Medieval time?

(a) Italy (b) Germany (c)Spain =  (d) France
Hindustani Music, a style of Indian Music in North India
was developed due to impact of:

(a) Turkish Music (b) Arabian Music

(c) Persian Music (d) Afgani Music

With which state of India, Classical Dance style
Mohinittam is associated? : -
(a)T. Nadu (b) Andhra Pradesh (c)Kerala (d)Karnataka
Where is Church of Bom Jesus located?

(a) Pondichery (b) Mumbai () OldGoa (d) Italy
Gol Gombad, largest domed 'structure in the world is
the mausoleum of:

 (a) Asif Ja (b) Mohammad Adil Shah

' -ud-din
im Lodhi (d) Sultan‘Nocnj u
whr:;agidn Australia win the Cricket World Cup by

" defeating Sri Lanka?

(a) May 29,2007 - | El;l)) p;grllll ';% :;%%g |
il 27, 2007 128, h i
%?hﬁpir; ltfie President of 13t Finance Comssmn of
India? . 1 ,
i ~ (b) Indira Rajaraman
\a)vifay Kelkar
(0) Abusaleh Shariff () Atul Sharma
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Which one of the following exercised the most rofc
influgnce on the Indian Constitution? ' -
e British Constitution (b) The U.S. Constitutio, |

(c) The U.N. Charter (d) The Govt. of India act 1935
Who won the Title in the Final of French Open Mery,

- Single Tennis Championship in the year 2007? g
(a) Roger Federer =~ (b) Andre Agassi 4
(¢) Albert Costa *  (d) Rafael Nadal |
The first marine sanctuary in India having within it
bounds coral reefs, dolphins, tortoises and various kinds,
of sea birds, has been established in: - .. |
(a) Sundarbans (b) Chilka lake |
(c) Lakshadweep (d) Gulf of Kachch '
The sports person Dola Banerjee is associated with: © | | 88.

(a) Archery (b) Squash () Athletics  (d) Golf

Who was the first Indian women to swim across the -

English Channel? " e

(a) Arti Saha (b) Aarahati Saha (c) Anita Saha (d) None

Choose the best alternative for momentous decision:

(a) weak decision (b) bad decision -

(c) good decision  y(dyfmportant decision ',

: slaves so numerous as in Italy during the first ‘ i

85.

86.

87.

century B.C.
) Were '&a)’N'g;(-ar were

(c) Whether were ~  (d) Was were g
The third world most of Asia, Africa and Latin -
America. _

(a) constitute  (b) constitutes (c)consist (¥ Consists
Whom would she asked? |
(@)has (bMfave  (c)could  (d) possibly

| a campaign.against journalistic clichés last

week?
Did she begin (b) She began
- (c) She has begin (d) She would begin |
He . in the faculty building since the night of
arson. g

(a) is not seen (b) was not seen

(c) has not seen as not been seen

_______
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. \?) procrastination (b) fabrication

c) fortification slowing down
‘ i i s pour _ on troubled waters” is a proverb.
Men’s | .(,@,afld (b) water - (c) honey ggd) _oil_

'86. Choose the word with correct spelling:
lathematician (b) Mathmatician

' 3 (c) Mathmatition - (d) Mathematisian
ln jtg ‘[ 87. High-fiveisa: ' a
kindg f (a) gesture of celebration of greeting
| (b) groups of five most developed countries
(c) an aircraft that attacks from great height-
f ~ (d) five senior most players ina team
h: - | 88.- A spin doctor is: _
Golf | (a) a doctor who specialises in treating the injuries of
s the | spin bowlers (b)a <low bowler in the game of cricket
‘ ': " (c) a political-press agent or publicist employed to
None | promote a favourable interpretation of events to
| journalists

n; . | | g b
| (d) an African method of treatment in whicha doctor makes

‘f; his patient run in circles before performing the surgery.
| 89. Choose the word or phrase nearest in meaning to the
key word: Serendipity ' |
(z)’falm attitude (b) Welcoming song (€) Clgmsmess
. _ (d) Phenomenon of findbipg :;alm: nrfl 31; a&f:;::?ls-

in . I roper combination to Ii .
atn - R %ﬁf C;:)sc?litciefzel Itjl:v:l’c the leniency shown by the cm%rt to
the first time offenders leads themto___and___CrIMeS:

first

|
sts . § :
A e yless  (ugher  DEEH
3 i er combination to -
L ﬁhf;i;tﬁ‘gggzﬁ O that 50 years aftex
- independence W€ have failed to _— drinking watel,
k - mon mar. - duce
L (a)tifafiogoduce(b)POOL81V€5Mprowde(d)sad'Pw
tof & 92 Moresare : '
| B b) customs
i (a) places for boats ((d)) rpe of el

(c) campfire treats - .
. 9. Fill up the gap(®) | :

{

E
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9.

95.

96.

;o7

98.

(@0.
o,
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i M oed

(b) pass

(a) 'ap. éared, in |
(c assed, in ' (d) CIEETEd, by . ,
n the basis of the following diagram answer the giv |

question.
Those who don’t own a
car is represented by:

(a)ery a
(b) only b
(c) only-c
(d) None of these

A is the mother of B and C.'If C is the wife of D, then |
establish the relation ship between A and D. i-
(a) Mother =~ «b) Mother-in-law |
(c) Grandmother (d) None of these |
Ravi has an annual income of Rs. 25,000. He spends 10%
on education, 20% of the remaining income is spent on
housing. The remaining 15% is deposited in saving
schemes and the rest income is spent on food and clothes.

How much percentage of income does he spend on food
and clothes? |

(@)65%  (b)61%  (c)60% (d) 55%
If TRIANGLE is coded as SQHZMFKD, what is the _
word, which is coded as DWZLOKD? _

(a) XEAMELP  (b) MXEPALE () EXAMPLE (d) None
Five persons were playing a card game sitting in a circle
all facing the center. Ashish was to the left of Miland,
Nitin was to the right of Anupam and between Anupam
and Mukesh. Who was to the right of Mukesh?

() Nitin  (Bi&shish () Miland ) None

If + means x, - means +, . means - and x means , find
the valueof4 +6-2x12 4.

(a) 20!/, (b) 28 (c) 24!/, (d) None of these

If 3 apples and 4 oranges cost 40 paise and 4 apples and
3 oranges cost 37 paise, find the cost of an orange?
-(a) 3.5 paise (b) 3 paise (c) 6 paise (d) 7 paise

Answers are on page No..'SZJ
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Arx
I-t
14-
254

36~

47-¢
58-3
69-d
80-b,
91-b,

" 90-,91-,92-,93-,94-b, 95-b, 96-c, 97- , 98- , 99- . 100-

' | Answers: M.S.W. 2009-2010 :
}813, fgcj goc 4;, 5-,6-,7-b,8-,9-, 10-, 11-3, 12,13-, 14- , 15 g6
33,70 20 21:, 226, 23-b, 249, 25-, 26-b, 272, 23-, 29- 30, 311
ey 36-, 37-, 38-,39-,40-, 41-, 422, 43-d, 44 45.¢ 4o,
e » 50-a, 51-a, 52-, 53-d, 54-c, 55-a, 56- , 57-, 58- 59. g
, 62-d, 63- , 64- , 65- , 66- , 67-, 68- , 69-, 70-, 71-, 72 . T3- 74 7%
76-c, 77-c, 78-d, 79-b, 80-d, 81-c, 82-d, 83-a, 84-c, 85-a, 86- , §7- 88.4 4o

Answers: M.S.W. 2008-2009
1-,2-,3-,4-,5-,6-,7-, 8,9, 10-b, 11- 12-, 13-, 14, 15-, 16-, 1T~
18-, 19-, 20-, 21- ,22-, 23-, 24- , 25-, 26-, 27- 28-, 29-b, 30-, 31- 508
33-,34-,35-,36-,37-,38-,39-,40-, 41-a, 42-d, 43, 44- , 45-, 46~ , 474
48- . 49-b, 50- , 51-, 52-a, 53-, 54-b, 55-c, 56~ , 57-b, 58-, 59-, 60- , 61
62- . 63-b, 64- , 65-c, 66- , 67-, 68-,69-,70-, 71-, 72-,73-a, 74-, 75-, 16
77- . 78-d, 79-b, 80-d, 81-b, 82-a, 83-d, 84-d, 85-a, 86-a, 87-, 88-, §9-a, 902

91, 92-, 93-c, 94-a, 95-, 96-,97-, 98-, 99-, 100-

~ ‘Answers: M.S.W. 2007-2008 | 8
I- 2-b, 3-b,4-d, 5-b,6-d, 7-a, 8, 9-b, 10c, 11-a 12-, 13-, 14- 15-,16
17- 18-, 19-, 20-,21-,22-, 23-C, 24-, 25-, 26-d, 27-,28-,29-, 30-, 318
32- . 33-a, 34-,35-,36-,37-b, 38-, 39-d, 40-d, 41-, 42- , 43- , 44- , 45 :
16.a 47- . 48-,49-, 50-, 51-b, 52-,53-, 54D, 55-b, 56-, 57-, 58'7’553'3; -
61- 62- 63- ,64-b,65-, 66- 67-,68-, 69- ,70- ,71- ,72- ,73- ,74.d, 578
7170, 78- 79 80-c, 81- .82-,83- 84 85- 86~ ,87- 8- ,89-2, 90-d. 91, 95

93-a, 94-d, 95-3, 96- ., 97-, 98-b, 99-3, 100-b

S.W. 2006-2007 .
T 12-b, 13- ,14-d, 15-,16- 1T

28- 29~ ,30-b,31-8,32- 3

Answers: .
C, 8- ,9'C,10' ,11' ’

l- 2- ,B-d, ) ,5 d . : - 26-3 27- D,
- 23" 24" 125 ’ ’ 47‘ 48’ '4 .

. 19- 20- 21= 227 200 o 434, 4 45- 46- 4T 48EE

e 38-4,39- 40- AL, TG 60- 61- S2LE o

4- 554, 56- 5T 2 T 53 96~ ,11- 18- 1= 80 0

8-b, 89-,90-C, 91-,92-b, 93- ,94- ’95.",_._-.;'.'-.3

R

0. R3- .84-,8

— - - Aﬂn‘
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[ sioond betveen e
(a) commoners and the rylers
+ (c) agriculturist and industrialist

- Solidarity” were developed by:

- (a) folkways (b) mores  (c)laws - (d)riorals

N1

(b) rich and poor

The fundamental diffetence between(gsifﬁ i;‘a‘:sa}th;f t
.(a) caste operates in a classless society and cl Ty
in casteless socie . class operates
(b) class is alwa
(c) the status
case of

ys closed and caste is always open
gtven to an individual is ascribed in the
caste whereas in the class it is achieved

(d) the individuals suffers most in the case of caste
whereas in class he does not |

The death of children below one year or age is known as. -
(a) child mortality ~ (b) intera-uterine mortality
(c) neo-natal mortality | 4 infant mortality
The concept of “Mechanical Solidarity’ and ‘Organic

(a) H. Spencer(b) E.Durkheim (c) Max Weber (d) A. Comte
Students saying “Salam.” to the teacher is an example of:

The rural area surrounded by the city is known as.

(a) Suburban (b) Hinterland (c)Yrban village (d) Slum
The idea of a “global village” implies:

(a) agriculture becomes the most important occupation

L(;)’ﬂSO}chcultural differences are obliterated

ctworks of communications binds people of the world
(d) one government administers all countries.
The term ‘group-dynamics’ refers to; S B S e
(a) Formation of large groups. A hv‘f U U P DA g >
(b) Adjustine changes in small groups.
(c) Disintegration of small group.
(d) Interdependence of several groups
When a collectivity of individuals is emotionally eroused
and is engaged in or is ready to engagéin violent action,
it is designated as:
(a)acrowd (b)agang ((c)axmob (d)a group

________



o 66
A surgeon cracis : kes with
feam while perty Jo the members

67
¢ The Hindu Code Bill 1956, "

: fhis meg. | (©) e Gains of Learning Act, 1930, .
aninstanceof, '8 A1 OPeration, Hjg behﬂ‘-’io:ﬁ (‘ﬂgomor the following isnota functionof thefamily
(a) role in‘;ettzgiﬁon (®) rol " wo ::?ndusmal micg? bl

foie ction uy
(c) role eXpectation (@) ol gfsrt;nle;ance (a) To actas a produ
hich one of the followin, ; y
cOmmunity?

* An organization
Impersona] lineg
OWn as: , -
(a) a reference group
(©)a Carcera] Organization
ich of the foIIOWing
Structure of the society?
(a)A S_OCI'E_!}' ha tructure of interrelated roles,
ety isa specia]
social system,

) (d) A vﬂlage
with a la:ge number of peo
Setup to achieve

®ran association
(d)a social Structure,

d principle,
Strong commj

tment for group members
(c) Prescribed range of behavioyr.
(d) A standard f,,

r judging goals.
Which of the follow;

(a) Magic (b) Tote
17. Which of the

I State

iven below:
@) Iand Il (b) [T and 1 (c) M and Iv (d)(e
Legislative Pprovisi

marriage in India was
first provided by:
(a) The Hindy

Mam‘age Act, 1955,
(b) The Specia] Marriage Act, 187,
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are characteristfcs of the socia]

€0f group with a Comprehensiyea

i, &

) To transit social values and cultural values.
?z} To actas a consumption Unit.
!

impart education to children. ’ i 1H
| %:hlgﬁhe following are involved in the formation o
o lear family? .
nuclear - —
' Riual reh‘f‘““Sh_IP 1IIV éfoi,:‘»‘:!\;\.unal relationship
11 Ritual relationship Sesrareon
lect the correct answer from the codes [\?(d] Loy
S:] L Mand Il (b) ], lland IV (c}lla?t(i;oﬂmme -
EN]‘\E) said “The Stale was the march of e Hegearﬂ‘lEl
21. Kant (b) Rousseau (c) Aa::sto e ey 4l
&/\fa}ho has classified groups into
i ; § o i Sumner
Se{éoncll: I,Y g) Simmel  (c) 'Tm:lm:; (i‘:i}.mrksoncaste
g\?[):itc?\oﬁ\g following sociologists with the!
;- system in India.

A Caste and I}iia:e in Jndia
L Hutton B Caste in Ind lun
II. Ghurye T C Das Alterdissche Vg}l‘fndia
[1I. D.N. Majumda D Race and Culture
IV. Dahlmann

i air:
k answer from the following ;ogiagz iIJn.C, i
Ma; B, 1l-A, I1I-D, IV-C  (b) II-B. 11-('_‘: A
((?a)) LC LA, D, VB (@B,

: ined by:
. as ﬁfst ame come te
e 0 AugteCom
a Il
( %Socra on _ (co nstitutes culture?
25 &ac\"hich one of the following (b) Values and norms
; e.
(a) Beliefs (d) All of the abov
(c) Science

W &Em
ivilization” have Hills
26. The “cradles of (E;V;ll{:ms © plat:e;m e(‘ed\?ery year in the
alleys the 21" of June €v¢
curs on uc mcle
day of 24 hours oc Antarc -
. (:) A);cric circle x .




© ,
68 ding to most widely accepted view
Red Seq” . |0 TroPic Capricorn A e flourished.around; Ty
€a’ is derived from the re @ 6000 BCto 3500 BC (b) 2500 BC 10 1750 BC
d by the presence of dgj © 3000 BC to 1500 BC BC t0 2500 BC
gus (c) red minerals (d) red . The basis of social relations in ancient India were:
used by: Soil 9. (a) Vamna, Kula, and Ashram
fl . (b) violent wings. (b) Varna, Kula and Sanskara
: f;:afplraﬂy outward from the centre () Vama, Ashram and Sanskara
low barometric press‘:j;:und the centre of Minimum (d) Varna, Kula, Ashram and Sanskara
- 30. The range of

0. The founder of the Chola empire in the gLy Cﬂ‘t‘-‘g’:“
generally on the oy gg of earthquakes obseryef  (a) Rajaraja (b) Pranataka1(c) Karikala (d) Vijayalaya
er scale is: igta system means:
0 The 1qta sy :
1 ‘i(:’)he!ttot;e rth s (©0to8 (d)oto9 3 (a) Crown  (b) States share of 1/5th of the spoils of war.
rotati “Wh?a has turned through one-fourth f (c) Law of primogeniture .
(8YSun is ris; thappens along the Greenwich Meridic; ; (d) The grant of revenue e s greatly
(©) It s midmiggt grre, () Sunis setting there | g2 The leader of Bhakti Movement, who Wes &
sy midnight there_ (d) It is noon there i : influenced by Islam was: .
s un?:;i of the current is warm? ) (a) Ramananda ®) Sé\hanmka‘:acma
wo s | itanya
(c) Labradoy mﬁ:‘g‘:m (b) Peruvian current (c) Namdev . (d) heedot);l wasuttered by:
33. The Hima] (d) None of the above. 43. 'Give meblood and 1 promse you Sekhar Azad
y (a) fa ulting gfatsh were :;fi?mwd due to: ¢ ' (a) Bhagat Singh ®) Ch;‘t:::; Chandra Bose
e earth’s crust. i Patel o - tional
((Ct;)fa(;;gmul?hom of locss deposits 'I 44 (Tcgfia;iasz ﬁomen President of the Indian Nationa
olding of the geo-syncline named Teth ‘ ss was: i
; : : i Amrita Kaur
” Ig@}fdh_iu_ag of the earth crust. 7 %;;rég‘::ﬁeta Kirplani (b) Raj Kum;nald“
,, . Red SOI.I is commoxﬂy formed in the Sta tes: )/Amﬁe Besant (d) Sarojind wven by:
4 (8) Punjab and Haryana 45" The “Inquilab Zindabad'. slogan wbaﬁa?h Chandra Bose
. [(;},E.“"”dlﬂl Pradesh and Jammu & Kashmir " (a) Chandra Sickhar Azad (pSul Tqbal
2 5 jasthan and Gujarat (c) Bhagat Singh @
b (d) Tamil Nadu and Andhra Pradesh | 46. Match the following: 1. Annie Besant
” &%u ?ﬂ;d}’ mm&)’.«é‘mal soil (c) Black soil(d) laterite sofl, B, New/nfi 3.G. Subramanya lyer
; chof the following projects supplies electrici : C. Mahratta otilal Netiru
R pplies electricity to the 4. M X
¥ ;’lgkeﬂa Steel Plant? ; D. Hindu 5. MX. Gandhi A’
a) Damod, 4 . i dent il -2, D’Sf
(c) Tun bh:rdrvagey Project (b) Hirakund Dam Project | - T‘? B5,C2,D3,E4 O AS B %—z D4, El
37, Which ooy oraFroject  (d) Nagarjun Sagar Project | B N 69 D4 B A B
+ Which of the following Vedas was (o c. .} () A5, B-1,C2. D y
. composition? was the earliest 47. Match the following: 1. Red Shit Movement
. a) Rig Ved _ . MX. Gandhi g
,}E (a) Rig Veda (b) Sam Veda (¢) Yajur Veda (d) Athar Veda A
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: 70
B.Jawahar Lal Nehry

n R
increase in production
2 Ptofar;‘m Swaraj Resolu (8 decrease in production _
C. Abdul Gh at Lahore qdyPoth (@) and (c) :
D. Sardar Patfl'far Khan 3. Bardolj Andolan industrial Policy Resolution 1956 stressed the significance
(a) A-4' B-z,c_l D 4. Da-rld-i Mﬁrch 56' Oi lhe: Sy
() A-4,B-2C.5 D‘3 (b) A-4,B-3,c.1 p_ () Public Sector (b) Private Sector &
48. Arrange the followin -1 (@) A-4,B. 1,C-3,p 2 ©) Mutual dependence between the public and
1. Dandi March wing in chronologica] order: foreign sector, he orivate and the
; e
. e Commission (d)bhﬁlcu::;z Aeprudiecsor S D F _
: il : ‘ e
4. Gandhi 'I;Win P The Industrial Licensing Policy Inquiry Coumniies as the:
(a)1,2,3,4 (b)4 a:;: J &y submitted its reports in1969 is PﬂPuh‘{\Y knocw;;uﬁuee
Swaraj Party was }j;_;eg) i 1,3,4 (dy4,2,1,3 (a) Dutt Committee (J}Bﬁ':-,&mamg:m e
atter th z i Committee e
(a) Quit [ndl-l:f cReient = allmeaf 8 (\}c\]{ﬁg 0? the following is not a basic .mdusu'}'?
ks (c) Civil Disobedience (b glon‘;cooperatlon A (a) Iron and Steel (?i) émﬁ
. Thef 2 wedeshi 7 <1 ist
(a) Eoﬁ?s Pakistan resolution was passed at: 9 %f?éil institution in the field of industrial finance
51. ) wrotg a ﬁ,}o?hm" (©Delhj  (d) Calutta .t (a) Reserve Bank of India £ 1ndia
drain of India quup e ocribing the theory of econom (b) Industrial Development Bark &
(a) Dadaba I\(Iiunng British rule? % (c) Industrial Finance Corporation
() M. Gandhi " (3) Lala Lajpat Rai : (d) Industrial Creditand
52. Which of the following is o el Nty
eCOngmy?

Investment Co;-po?aﬁnn of India.
ot a feature of a devejoping

Tariffs and Trade:
. a\ Ag‘eement on 7 .
& W;\f: ds;isﬂ;iﬁiﬁ: for World Trade come m;gl force
. b 948 (b)1951 () 1954 Acts was the
1gh rate of unemployment. ( der which one of the io}lowmg 4 by the BrifS
| ((Sgﬁih rate of population growth, . C:mi'\unal Electorate System introduce
A &0 rate of capital formation : - o first time?
Ep y v i f e 1115
| 53 1(: ) Widespread poverty. 5 “g“;ief;iiém of India Act1909.
’ . : dia, present trend of urbanization is due to: . (‘:;}) Government India Act 191?1 -
((Z) [ #luence of cinema and electronic media, - %c) indian Councils Actof Fec, .
ek of employment opporturitiesin rural areas, | 3 Indian Councils A OISR, o\ g and came into
d Brealflfp of joint family system, v ! 62 S1"!19. constitution of India was
5 {Vl)u .Abolzuon of zamindari system. " force om; uary 26, 1950,
. o cch one of the following is not a flow concept? " (a) November 26, 1;34’9 I{l l?:ambe‘-' 26,1950.
onsumption . : i August 15, 194 26,1950.
{0) frestagnt ((gf ge{‘t:;ng | ((\3 1:9;“' 26,1949 Novemzea;}' 26,1950.
‘[a) .aﬁon is caused by; n ':. M;-embet 26, 1948 / Ja
! Increase in m ' '
. oney supply
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sol 72 '
udopted the constitution of India on the

(b) Parliament of Indj,

e tatives of the people of India in consﬁtua‘

5 d) Cabinet. :

- 64. The number of Articles in the Indian constitution :
(a) less than 350. (b) more than 400 T

65. How many schedules are there jn the

, ()9

66. Fundamental rights are enshrined in the constitution in.

(b) Part- 111 (c) Part-IvV (d) Part- V1

67. Which one of the following is t | i
((':)) Right against exploiraﬁ%n. o Rnemientl Nghtt
itvof s .
{d Eqm‘ght t?::S II(_JEEIIJ‘}';OI'tumtymmatterlscf publicappointment
) Right to freedom of Practicin i
g any profession
68. &o;r j:{:n_y ?b?gamenm rights are enjcf;ed by Indians'?
en (c) Seven {dySix
69. The main difference between th i
i Princtgig o een the Fundamental Rights and
(a)' Fl’mdamental Rights are justiciable while Directive
Principles are not.
(b? F}mdamental Rights are positive while Directive
Pnnqples are negative
(c) Directive Principles are given precedence over
Fundamental Rights by courts in all cases.
(d) None of the above.
70. The Vic_‘e-President of India is:
(a) C]lamna_n (ex-officio) of the Lok Sabha.
\(b}Ex-officio chairman of the Rajya Sabha
() Speaker of the Lok Sabha
(d) _President of the Red cross.
71. Which one of the following are trué of fertilizer?
L It supplies nutrients to the Plants.
IL. It kills pests.
IIL. It produces plant growth hormones.

IV. It adjusts the soil PH and increases the crop yield.
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(a)landll  (b)land il (c)Ma .
which one of the following sets of constit
for n-»ak\:;\g sa!;etzr‘mm ‘ G
a) Carbon, sulphur ue A
L(\-_’} Potassium chlorate, Antimony sulphide and glue
(c) Lead dioxide, carbon and paraphin. .
(d) Silicon dioxide, sulphur and paraphin. o ot
73. Twoelectric bulbs whose resistances are in m
" areconnected in parallel toaconstant vd‘ai‘eo' source.
power dissipated in them will have the rad g
@1:4 ®1:1  ©21 @1
_ Itis a nuclear chain reaction: ]
2 (a) a U-235 nucleus is bombarded with
g i ded witha fast
U-235 nucleus is bombar : s -
({13 2 U-238 nucleus is bombarded \'ml\ asmmﬁ';‘;“m
(d)AU-235 nucleus isbombudledm\h asl -
75. Sound waves travel fastest 1:(\:) it
a\brass  (b)hydrogen ()0 4 oy
76. gvl)atch Jist T with 'l.ist 11 and select _the correct ansW

72

a fast moving alpha

‘{?:ﬁme codes giv ke :
1st-
(Metal) iyﬂO%
1 Silver . ; il
11 Gold b 45
| 111 Mercury Al
et F }':% [.D, M-E, V-A
k- £ D, IB,NC OB e v
g ((?)I;E,H-B,H‘L-D,N-Q d-(d) 1A, 1D
77. Teraplap 18 newly devised: G i
(a) Missile boat o g codmemputet »
l ; i £ Todinv
e dE 19:3331:;:&'0: in the world, 1® respect ©
78. India s 18 |
ici cases 1S @
deh;"e;q ) Second 3 F-molume outside watet
a)b ‘El floats with one-third of i e
79 gncftl?;ee fourths of it8VO ou



(d) 8.95 sq.cm'
83. All the 120 students ora senior school are members of the
ating

drama club, debating club or both. If 90 are in the deb
How may are in both clubs?

(d) 25
st. After waIking

cluband 70 in the drama club.

’ (a) 30 (b) 20 (c) 40
84. Ram starts walking straight towards ea
75 metres he turns to .the left and walks 25 metres straight.

Aggin he turns to left. walks a distance of 40 metres
straight, again he turns to left and walks a distance of 25
%I;e/Qes. How far is he from the starting point? :
35 metres (b) 50 metres (c) 25 metres (d) 30 metres
85. If you walk towards a plane mirror ata speed of 10 cm/
§ at what speed does your image approach you?
(@)5cm/s \py10cm/s (c)20em/s (d) 15em/s
86. In aclass of 23 boys, the average age is 16, If teacher's a ge
15 included, the average will increase by 1 year. Teacher's

ageis:
(a) 34 years  (b) 35 years (c) 40 years (d) 45 years
87. 4,12,30,68, 146, 302, 622 4 ' i

Find the wrong number in the series:
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s
ty of the liquid is:
B9 ©1/4  (d)1/6 . A
Janisms of the following Pairs arc ygy, I 88 (a) 120
consumers in a forest ecosystem? olly §9. The
bit and snake (b) Dear and rabbj 40.80 and the simple interest is
g e dear (d) Earthworm and snaj.. (3) Rs. 500/- (b) Rs. 400/- ¢) Rs. 300/-
ow many triangles and squares are there in the :: 0. Sania Mirza, 18 years lad of Hyderabad
IO:quares 44 triang] e s (b)CﬂdsﬂP"!"Flm
. 3 angles Hock layer 2
(b) 4 triangles, 16 squares i?y[u\r:sy p‘;.ay);r (d) Table Ter
(c) 24 triangles, 5 squares 91. Next Olympic games will be held at Beijing
, 9 squares, 24 triangles () Mexico (v) New Delli () Mymar (B BEE
52 AB=BD=DE=EA =25cm; BX = XD; Cx = 3.1¢ 92. Mrs. Jaya Bachchan has been disqt
The area of th_e figure given below with the ln cm membership of
: F‘l)e;g‘;f ement is: E coessary. (@) The Lok Sabha
a) 18.41 sq.cm @)2;\ Rajya Sabha . rporati
2 (b) 15.40 sq.cm © ch;im}n)arns‘iﬁp of the U.P- Edmug:nd\alm
] " 93. Who among the following has b2t
A ' . 2 Mise India - Universe recently
) Seema Kapet®

Fe
Natasha Suri ® Patkd
o (d) Amruta j
(c) Neha Kﬁg‘:ﬁ; following the word or phuase R
the word “galoot ace (d)jeckpt
Fill up the

94. Choose fro
1d boot () sk
(b)o e

meaning, to ow P

(a) odd fellow ® e
bus stoppe e . :

95. Tt;e by an app’ropriate preposxtfun gwmtd} o
‘%a)pon al % (in U_P_qupmsav

brother was born at Agra — D
96. 1\:?’ an appropﬁa;e pmposmo&?;g \@’Si
at , Qr"
8 5 some milk

97. There i e
appropriate PrepOS™
the sentence aboVS

—— Tefollowingand

on fromthe



25 To keep one’s finger crossed B. A red letter day

.C. To get into hot water D. To add fuel to firel :
List IT: . . -
1. To give to one’s anger 2. To wait anxiously
3. To get into difficulties 4. A memorable day 3
4, B C ¢ : ' .
@2 3 1 4 4
(® I G2 g
(uﬁ(g 4 3 1
\szy I 2 .8 " 4 |
'99. Wlatch the List I containing expanding meaning of the -
word given in the List IT and select the correct answer ‘
using the codes given below: | ‘
List I List IT
A. One who is liked by people 1. fatal
B. A disease which ends in death 2. popular
C. People at a concert of lecture 3. grocer
D. A man who sells tea, sugar, Soap etc. 4. audience
A B 0 D
,}g?/ 2 1 N A
) 337 Sy, g
Q9 8. 1. "5 4
d 4 3 1 .
100. Match the words givenin List and List and select the
‘correct answer using the codes given below the Lists:
List I Listr " & - B & p
A. Money 1. Kiln @ 1 2 3 4
B. Brick 2 Dockyard B 4 4
C. Ships 3.Smithy () 3 2 )
D. Iron 800ds 4. Mint d 2 1 3 .a
| Answers: M.S.W.2006.2007 3
18- 19’-3-50:4 2 f:dz’;f a8 810 1110y 1y 14-d, 15 16 17.9, |
34-c, 35-&,3.6-’,37-’ /707 124- 25- 26.227. og. 29- .30-b,31-a,32- 334 4

50-,51- 52. 53-c’358f’39- A9 A45- ,46- 47 48. 49.,
i' 66 167 ’ ) ’ ) »39- ,60- 01- 02-d. 63- .64- 65__-_--.
B e T e s . 5 ST 6 658
; e ’ i 1OI= "0 /= ,88"b, 89- ,90- o 2 3 ’ » % ! 3
| 98-d,99-2.100.b : 20-¢,91- ,92.b, 3. 94~ .95-b, 96-d,97-b

] 42— '43_d, 44_
:Ss'd, 56- ‘57_

—
|

o | A
gl
1

¥ i a
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ke S by
2 e ‘L'_.""'.

= £ '-.5.‘."- A
- ' R B L iy
A e s AR
2/ T ' N aYAYAl= 1
1Y. L . \ g I~ Y[\ \ V4
|- @ ® 1 . T "--"f-\.' o 4 N (f‘-.. L
L J 4 - ) A | PRkl
- L, s { | @ J;q’-" i, ’
! 1 R

s e e
N nsociological usage, ' Sl v DA
_ conm\uiﬁilm refergt?)’: terms ke soialin CAFI LRI Gi..
’ (a) Economic system ANAL L 1
1 ol.i'cical system Al 't'i:x_ﬂ..;f“’? LI | ) | fj INYAT -
| (c) Belief system ikl E S
' (d) ‘.E.conomic, political & belief system ok
Which one qf the following is not true of pressuré groups?
(a) These are political groups
(b) These promote special interests
(c) These contest elections
(d) These are prevalent.in complex societies

3. The estate system is a feature of:

1]

N el
oY

P (a) Post industrial European society
éudal Europe (c) Indian Society.
| (d) Ancient Egyptian society -

the$ 4. A place where 2/3 of the population is engaged 1

5 agriculture and 1/3 in secondary nd tertiary occupations

~* can be best called a: it

‘ (a)city 5 B - (b) town

| \%,mfal town .  (d) rural market .
. - T India, the bigger cities have higher rate f’f -popfllah?n
e o gr owth than the smaller urban centers. This is ';Jmnarﬂ_y
_. because Ol - ‘ ST
, 17+ a) natural ate of gro?\{th
31-b, (b) better medical facﬂ‘mes
5<C Wral—urban mlgrafnoty uelians
94| ‘ . 1 modality oI ¢!
73-8 6 SdN)I:I?C;:IQiItdet?;he product of society while w?man
L’i-& " s to a far greater extent the product of nature.” This
—] " statement i rjbuted 05 _
f'-}_/ ' (a) Talcott Parsons - (b) Emile Durkheim
';2-1 | (c) George Peter Murdock (d) Robin Fox o .
7..3' ' 7. Ina family, the grandfather was a farmerinavi tl':\ge an
l-b: the father tau ghtina schoolina town and now the son1s
76- an industrial engineer ina mulnnahonag corporahon-
0-3,
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54 i ;

isan: : ; 16. ‘{;e'rtehr:l‘;l&?:s
(a) cultural Mobility ). Hobman !
(b) i-l‘lh:a-generaﬁonal Mobility 7 g)sfél\yoﬂ\e developing mﬁg a:l;:hd:nlbp .
(c) horizontal Mobility 1 (@tow birth rate and low death rate: par
(d) @ter-generahonal Mobility “(%))xgigh birth rate and low death rate.
8. ;thh one of the following is not an essential feature (c) High birth rate and high death rate.
(a)e é:a;te system? . ! (d) Low birth rate and high death rate.
ndogamy (b) Hierarchy 48. A group of relatives which includes all those
(c) Mobility (Y Belief in re-birth consanguineous relatives to whom an individual feels
9. Jajmani system indicates a set of:: some sense of obligation is called: ,
(a) ﬁOn_!:l'actual relations  (b) Political relations (a) Kindred  (b) Cognate (c) Agnate (ﬂUtﬂr:m divide
" I(rCth__ ;;t;)lc relations {d}-Economic relations 19. Which of the year s considered asthe year of greaicl
. 1 e t.he’GH‘OTUL represents a; in India? 0182
) youth organization . (b) tacitonalleader | @198 OB QWL ©
h  marriage (d) regional deity 20. Marriage among usisa:
11. Tribals in a Scheduled area demanded special care for {a)Bacrament (b) Conieracy
!beh‘:;iu;ﬁhoré of their children under their constitutiong| (c) Both Contract and Sacrament
ri . The ded . { d institution. 4
(a? Article g] ey Suc}(‘bc)a;i;;ifl% - l&f}hﬁ :;g:;\; Effoﬁwmgmte ‘Folk\faYS' in 19067
(c) .«f\rt:icle 52 . (d) Article 73 ’ () W.G . Summer ) F -Tl_‘;“mé:oley
12. Article 164 of the Constitution of India provides for (¢) Mac lver andPage He-2 - d which of the
separate ministers for tribal welfare in : a7 The Government O India has adopte.
(a) Rajasthan, Kerala and Nagaland S following policy of tn'nal development:
(b) Orissa, Bihar and Meghalaya (a) Complete assimilation
(c) Bihar, Madhya Pradesh and Orissa (b) Complete Isolation ]
(d) Madhya Pradesn, Assam and Orissa (c) National Park app
13. The process of borrowing cultural items from other (d) Integraued BpPIONER. tercast-marTiage inIndia was
cultures is known as : 23. Legislative provision Lo
(a) acculturation (b) socialization first vai.ded vy e Act1935
(c) enculturation (d) acquisition . (a) The Hindu Nmmmiagge Act 1872
14. Religious cults are : ! (b) The special Marr (111956.
(b) voluntary associations () The Hindi Code ing Act1930.
(@) The Gains of laming

(a) sacred organizations -
al assertions d) reference categor )
(d) gory ; ity

dividuals Bnelwotkoirelﬂ“f?

n organization with a large number of people run on

! 24, Society is:
I (a) a social groupP

15.
impersonal lines setup to achieve specific objectives is :
kngwn as: g d J (c)acollection oL
g (a) reference group M association

(c) a sarceral organization, (d) a social structure
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artisans, (4 i
' One of the !oHoWin; {-::QT i‘: ‘:cktlrn
mm_:'n Plenty in Indis»
um (c} Thor;
of the foﬂowing is asia::atsguhx:th ‘E;DS?‘
(©) IVF (d) MAC

Pairs of g,

(g’)) rare earth elements

. €arth metajs.
Industries s o i e
Tecent yearg “panding most o
edera tio . d) C
Safeguardsnp;. Indjan reSponsibiljty, re(se)r S
dhj.] E{‘e the three Imlchpjns of- vatlon and
- P ey
(C? POona Pact e (b) ﬂfacdo
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(b) educated miqgj, clas,

8 classes, f
acted f"Om |

Copper

Stanceg can bg '

35.

37.

38.

39.

40.

41.

- power

Seasons of the Earth are
" (a) its elliptical orbit

(b) its varying speed of revolution
inclination of its axisof%bhphndh

Some drugs are administered in the form of capsules. The
capsule is made of:

(a) paper (b) polythene <) eggshell (4] starch
Match the following; ; :
A. Act of 1858

1. Minto Morley reforms
B. Indian Council Act

1I. British crown assumes

C. Govt. of India Act 1919 IIL. Provincial autonomy
D. Govt. of India Act 1935 1V, Dyarchy
A B C D
(@ v 1 H I
® 1 vV 1 111
(© 1 II m 1w
(d 0 1 Vo m

Which State in India has the highest number of pigs?

(a) Tamil Nadu " (b) Punjab

() Bihar (d) Uttar Pradesh

The economic contribution from goat products to the
national economy is:' '
(a) Rs 120 crores (b) Rs 150 crores

(c) Rs 300 crores (d) Rs 350 crores

Which of the following compounds found in all living
organisms are rich in phosphorus?

(a) Carbohydrates (b) Fats

(c) Nucleic acids Ny Proteins

A common currency for the members of the Common
Market in Elét:/p{!?fnom as: .
(a) Dollar urodollar (c) Franc  (d) Pound

In India recognition of Political parties is accorded by;
(a) the President law commissiol} 3
(c) the Speaker of Lok Sabha e Election Commission



(d) Kaushumb;

(a) Sahuam Maharash
(b) Shimoga in KAmata?C:
3 (fg Burdwan in West Benga]
b Thanjavur jn Tor:

B 45, ?anﬂloredut‘hea%m o,

(d) Bernstein
Oz) take p}a(-e in

7. Th.e Pancﬁ"’ya“')) Bl_'Dnchj . (c) Pleura (d) Tra chea
gfﬁsﬂun and: t introduced in the States of
48. Inflag, Pradesh (b) Bihar (c) Gui 4
on tends to warat (d) Orissa

I
(Gross Nat, Teduce the share of Laboyr l
() Wages lng pup o) becauses " HeGNP |

ber 5 (c) Octc;be
er 5 ober 10 (d) Octope
Wing is the highegt wicket tacjcerrif:
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59
vANDALlSM : PROPERTY: ; 4 i -
: plication: crime  (b) Embezzlement: fraud

¢) Perjury : testimony (d) Testify : reputation
52. %NCANDESCENT : GLOWING: :

() Indefatigable: untiring edious: bore
¢) Flash: flame - light ..
53. {EI).‘EVATED: EXALTED:: “i 2
romoted : Excellence (g){irty: Filthy
(¢) Purified : Hygienic (d) Disorderly: Unfaithful
54. CAPRICIOUS: RELIABILITY: : e
(a) Heated : Boiling (b) Arbitrary : Whimsical
(c) Extemporaneous: Predictability

enacious : Practicality
'55. BARREL: VIAL:: W,\/
{a) Length : Height Low: High
(c) Book: Readers ( : Pamghlet
DIRECTIONS: In questions 56 to 60, fill in the bla'nhs
using the most appropriate word from the choices given
below each. The word you chose must bring the meanung
of the one which correctly fills in the blank space- .
56. The snow will meltastheday on.
(a)set (b)wears (c) continue (d) None of the above.'
57. Barbara wasin heaven when Elton John gave

her his autograph.
Menth (b) blue (c) pleasant (d) sweet
58. David usually has some good ideas but he is certainly

beams with this orf-.e. gl
out . f (©)o ag

59. (lgr)em feels-tgt};’fe isina___and badly needs a change.
(a) bore Gyditch () stake (@) rut o=

60. Tomorrow we are running the critical engine test. If

does not perform this time, we will all bein the
(a) fall (b) ditch (c)cart \gysea -
DIRECTIONS: Questions 61 to 65 consist of aliterary =
each, followed by four alternatives. Choose the m ]
 appropriate meaning of each of the following sentences:




€ Came after the
)H?C‘amehst

- I“’i"doﬂinaday *

(a“"’?""mdo;'taéau
(g’)flmdoitduﬂhg:heda time '

do_:tMaPam yda : Iandnotafmght_

scheduled time,
(©) He came Lateyy,

: 64, eOzﬂy ailos it d'-ll'lnga whole day
\f({g She writag pocpn DUt does not reag them,
She wri, else
meﬂa?'oning. €s and does n Oﬂ'ung at
€ alone Se worth
e andmzzgé: wer to qQuest; i
O(I:;lifhe hlow OWs the answer to{:;:}s !
Question, erto _“®questipn
. e aﬂSwer ril
: € ansy, ; ; :
IRE % Questio but sh
C‘TI ONS e knOWs
ﬂmnaﬁVes ch Questiong 6

as t th
Of the g, calling. le sentence iﬂ];ff |
ming cay,c:
i usm&_* uncon!:mﬂawe desi
toman;, () Clitzs '
= tro
(d) Megaj, Phobia
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67
68 The custom or Practice of

. 69.
- (c) Hierarchy

71

72.

61
who has little faith in

(a) Egoist (o) Fatalist  ()gyoie  (

h""hﬁmm

Y IR -

at the same time:

(e felygyny (b) Pol
@Y“‘fi’y . (d)) POI);pChmyinny
ode of diplomatic etiquette and precedence:
(a) Statesmanship (b) Formalism
! , (d) Protocol
. Having superior or intellectual interests and tastes:

(a) Elite (b) Highbrow (c) Sophisticated (d) Fastidious
DIRECTIONS: Read carefully the passage given below
and answer questions 71 to 75,

“Many Sociologists have argued that there is a functional
relationship between education and economic systems.
?7They point to the fact that mass formal education began
in industrial society and is an established part of all
industrial societies. They note that the expansion of the
economies of industrial societies is atcompanied by a
corresponding expansion of their educational systems.
They explain this correspondence in terms of the needs
of industry for skilled and trained man-power, needs
which are met by the educational system. Thus, the
provision of mass elementary education in Britain in 1870
can be seen as a response to the needs of industry for a
literate and numerate work force at a time when industrial
processes were becoming more complex and the demand
for technical skills was steadily growing".

The industry needs a literate work force because:

(a) It depends heavily on expertise

(b) Its expansion requires sound learning

(c) It promotes a competitive spirit

(d) Its operation needs high technical knowledge.

By functional ‘relationship’ is meant:

(a) A short-term relationship..

(b) A temporary arrangement.

(c) Practical and Utilitarian relat.lonsgp-

* (d) Close and Unbreakable relationship

e
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93.

' a
1f a person gets 5% loss on

the purchase

g2 pe the loss on sale? e, then
@575%

6%

(@) 4 :
Ifauianglehasaratioof?!:&:s, i the
b i which is the largest
(a) 45° (b) 150° () 75° (d) 60°
If the average age of Mother and Son is 27 years and of
Father and Motheris 41 years, What s difference between
the age of Father and Son?

(a) 14 years (b) 22 years £)28 years (d) 32 years

In an examination out of 90 students 58 got pass in
English, 50 in Hindi and 16 -got fail in both. How many
students got pass in English as well as in Hindi?

(a) 24 (b) 30

(c)34 (d) 36
DIRECTIONS: In questions 86 to 90, select the one, which
is different from the other three

(a) Father  (b) Mothe? (c) Sister (d) Mother-in-Law

. (8)Moon  (b) Saturn * (c) Venus  (d) Earth
() Inch (R)Quart  (c)Meter  (d) Yard
(3) Teacher  (b) Chear \g)Greater  (d) Creafor
(a) Zeal (b) Seal () Kneal (d) Meal

- According to acode, if 'VICKEY’ is written as 654792 and

'REKHA " is written as 19738 then under the same code,
can’ ARCHI' be written?
(a)81435  (b)81535 (C)57448  (d)57458
In‘any month, if the next day of date 8th is MONDAY,
then date .......will be of the Month's first week's
WEDNESDAY? :
(@) 2 \B) 3 ()4  (d) None of the above.
‘A’ is taller than ‘B, ‘C' is taller than * A’ ‘C’ is smaller
than ‘D’, ‘E’ is smaller of them all. If they are.tr_lade to
stand according to their height in a line then which one
will stand in the middle?

oe) A

@B  ®C (@D
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‘. 94. Whichi the main grain crop of India?
%\:%:at (b) Rice | |
(¢) Maize (d) Corn 1. !
95. In which century was the word ‘HINDU" first used? 1
“(a) 2nd century B.C. (b) 4th century B.C. : |
() 4th century (d) 8th century
96. Durand Cup is related to which sport? _ 1.
{aj Badminton (b) Hockey
(c) Tennis (d) Football
97. Sharda Law is related to whf;
(a) To Sati Custom '(b) To Child Marriage

(c) To Widow Marriage (d) To Dowry Custom |
98. Who is the writer of “The Golden Gate'? ‘-
(a) Narendralain (b} Lalit Shastri
(c) Vikram Szeth (d) J.K. Galbreth
99. According to Gender Ratio, which state has more women 1.
as compared to 1000 men? ..

() Kefala (b) Assam |
(c) Nagaland | (d) Mizoram i
100. As per the UNICEF report, approximately how many %1
people suffer from Malnutrition in India? i
(a) 250 million (b) 200 million
(c) 300 million (d) 350 million.

Answers: M.S.W. 2005-2006

|19-.20-a, 21- ,22- 23 24-b25- 26. 27.p 2.

- 2- 3-bd-c5-c6-,7- 84, 9-410- 11- .12- .13- Tac 15-b.16-.17-a,18- ,
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